FORM NO. MGT-7

[Pursuant to sub-Section(1) of section 92 of the Companies Act, 2013 and sub-rule (1) of rule 11of the Companies (Management and Administration) Rules, 2014]



Annual Return

(other than OPCs and Small **Companies**)

Form language	English	Hindi
Refer the instruct	ion kit for fil	ing the form.

I.	REGISTR	ATION	AND (OTHER	DETAILS

I. RE	GISTRATION AND OTHER	RDETAILS				
(i) * C	orporate Identification Number (CI	N) of the company	U6591	0MH1992PLC187184	Pre-fill	
G	Global Location Number (GLN) of the company					
* P	* Permanent Account Number (PAN) of the company			AAECS0591F		
(ii) (a	Name of the company		TATA	MOTORS FINANCE SOL		
(b)	Registered office address					
	14, 4TH FLOOR, SIR H.C. DINSHAW BI 16, HORNIMAN CIRCLE, FORT MUMBAI Maharashtra 400001	UILDING				
(c)	*e-mail ID of the company		neeraj	.dwivedi@tmf.co.in		
(d)	*Telephone number with STD co	de	02261	02261070000		
(e)	Website		www.	tmf.co.in		
(iii)	Date of Incorporation		16/06	/1992		
(iv)	Type of the Company	Category of the Company		Sub-category of the	Company	
	Public Company	Company limited by sha	res	Indian Non-Gov	vernment company	
(v) Wh	ether company is having share ca	pital	Yes	○ No		
(vi) *W	hether shares listed on recognize	d Stock Exchange(s)	Yes	No		
(b) CIN of the Registrar and Transfe	er Agent	U7499	99MH2018PTC307859	Pre-fill	
١	lame of the Registrar and Transfe	er Agent				

TS	SR CONSULTANT	S PRIVATE LIMITE	ED							
L R	egistered office	address of the I	Registrar and Trar	ısfer Agen	ts					
	-101, 1st Floor, 2 al Bahadur Shast	47 Park, ri Marg, Vikhroli (West)							
(vii) *Fi	nancial year Fr	om date 01/04/	2021	(DD/MM/Y	YYY)	To date 31	1/03/2022		(DD/M	M/YYYY)
(viii) *W	Vhether Annual	general meeting	g (AGM) held	(Yes	○ N	0		I	
(a) If yes, date of	AGM								
(b) Due date of A	GM [30/09/2022							
(c)) Whether any e	ا extension for AG				Yes (•)	No			
			IVITIES OF TH	IE COMI	_	. 33				
	*Number of bus		1							
S.No	Main Activity group code	Description of N	Main Activity group	Business Activity Code	s Des	scription of E	Business /	Activity		% of turnove of the company
1	К	Financial and	insurance Service	K8		Other	financia l a	ctivities		100
(IN	CLUDING JO	DINT VENTUI	G, SUBSIDIAR RES) ation is to be give		ASSO	Pre-fill A		ES		
S.No	Name of	the company	CIN / FCF	RN	Holdin	g/ Subsidiar Joint Ven		ate/	% of sh	ares held
1	TMF HOLD	INGS LIMITED	U65923MH2006PI	_C162503		Holding	9		1	00
i) *SH/	ARE CAPITA ARE CAPITA uity share capita	L	URES AND OT	HER SE	CURIT	TIES OF T	HE CO	MPAN	Y	
	Particula	ars	Authorised capital	Issu capi		Subscr capit		Paid up	capital	
Total n	number of equity	y shares	180,000,000	170,049,	735	170,049,73	35	170,049	,735	
Total a	amount of equity	/ shares (in	18,000,000,000	17,004,9	73,500	17,004,973	3,500	17,004,9	73,500	

Number of classes

	Authoricad	ICabilai	Subscribed capital	Paid up capital
Number of equity shares	180,000,000	170,049,735	170,049,735	170,049,735
Nominal value per share (in rupees)	100	100	100	100
Total amount of equity shares (in rupees)	18,000,000,000	17,004,973,500	17,004,973,500	17,004,973,500

(b) Preference share capital

Particulars	Authorised capital	Issued capital	Subscribed capital	Paid-up capital
Total number of preference shares	20,000,000	0	0	0
Total amount of preference shares (in rupees)	2,000,000,000	0	0	0

Number of classes 1	1
---------------------	---

Class of shares	Authoriood	Capital	Subscribed capital	Paid up capital
Number of preference shares	20,000,000	0	0	0
Nominal value per share (in rupees)	100	100	100	100
Total amount of preference shares (in rupees)	2,000,000,000	0	0	0

(c) Unclassified share capital

Particulars	Authorised Capital
Total amount of unclassified shares	0

(d) Break-up of paid-up share capital

Class of shares	N	Number of shares			Total Paid-up amount	Total premium
Equity shares	Physical	DEMAT	Total			
At the beginning of the year	0	170,049,735	170049735			
Increase during the year	0	0	0	0	0	О
i. Pubic Issues	0	0	0	0	0	0
ii. Rights issue	0	0	0	0	0	0
iii. Bonus issue	0	0	0	0	0	0
iv. Private Placement/ Preferential allotment	0	0	0	0	0	0

v. ESOPs			_		_	
	0	0	0	0	0	0
vi. Sweat equity shares allotted	0	0	0	0	0	0
vii. Conversion of Preference share	0	0	0	0	0	0
viii. Conversion of Debentures	0	0	0	0	0	0
ix. GDRs/ADRs	0	0	0	0	0	0
x. Others, specify						
Decrease during the year	0	0	0	0	0	0
i. Buy-back of shares	0	0	0	0	0	0
ii. Shares forfeited	0	0	0	0	0	0
iii. Reduction of share capital	0	0	0	0	0	0
iv. Others, specify						
At the end of the year	0	170 049 735	170049735	0	0	+
		170,040,700	170043703	•	U	
Preference shares						
At the beginning of the year	0	0	0	0	0	
Increase during the year		1				
	0	0	0	0	0	0
i. Issues of shares	0	0	0	0	0	0
i. Issues of shares ii. Re-issue of forfeited shares						
ii. Re-issue of forfeited shares	0	0	0	0	0	0
	0	0	0	0	0	0
ii. Re-issue of forfeited shares iii. Others, specify	0 0	0	0	0	0	0
ii. Re-issue of forfeited shares iii. Others, specify Decrease during the year	0 0	0 0	0 0	0 0	0 0	0 0
ii. Re-issue of forfeited shares iii. Others, specify Decrease during the year i. Redemption of shares	0 0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0 0
ii. Re-issue of forfeited shares iii. Others, specify Decrease during the year i. Redemption of shares ii. Shares forfeited	0 0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0

ISIN of the equity shares of the company

Nil [Details being provided in a CD/Digital Media] Yes No Not Applicated Separate sheet attached for details of transfers Yes No Not Applicated in a CD/Digital Media] Yes No Not Applicated Separate sheet attached for details of transfers Yes No Not Applicated in a CD/Digital Media] Yes No Not Applicated in a CD/Digital Media] Yes No Not Applicated in a CD/Digital Media Not Applicated in Applicated in Applicated in Applicated in Applicated in Applicate	Class o	of shares	(i)			(ii)			(iii)	_
After split / Consolidation Face value per share Number of shares Consolidation Face value per share Number of shares Face value per share Number of shares Face value per share Face value per shares Pace value per shares Pace value per shares Face value per shares Pace value per share P		Number of shares								
After split / Consolidation Face value per shares ii) Details of shares/Debentures Transfers since closure date of last financial year (or in f the first return at any time since the incorporation of the company) * Nil [Details being provided in a CD/Digital Media]	•									
After split / Consolidation Face value per share iii) Details of shares/Debentures Transfers since closure date of last financial year (or in it the first return at any time since the incorporation of the company) * Nil [Details being provided in a CD/Digital Media]	Consolidation	Face value per share								
ii) Details of shares/Debentures Transfers since closure date of last financial year (or in f the first return at any time since the incorporation of the company)* Nil [Details being provided in a CD/Digital Media] Yes No Not Applic Separate sheet attached for details of transfers Yes No Note: In case list of transfer exceeds 10, option for submission as a separate sheet attachment or submission in a edia may be shown. Date of the previous annual general meeting Date of registration of transfer (Date Month Year) Type of transfer 1 - Equity, 2- Preference Shares, 3 - Debentures, 4 - Stor Units Transferred Amount per Share/ Debenture/Unit (in Rs.) Ledger Folio of Transferor	After split /	Number of shares								
[Details being provided in a CD/Digital Media]	Consolidation	Face value per share								
Separate sheet attached for details of transfers Yes No No No No No No No No No N	f the first return a	at any time since the in			e com _l	pany)	*	cial y	ear (or in the	
Date of the previous annual general meeting Date of registration of transfer (Date Month Year) Type of transfer 1 - Equity, 2- Preference Shares, 3 - Debentures, 4 - Store Amount per Share/ Debenture/Unit (in Rs.) Ledger Folio of Transferor Transferor's Name			rs	0					F F	
Date of registration of transfer (Date Month Year) Type of transfer 1 - Equity, 2- Preference Shares, 3 - Debentures, 4 - Stock Number of Shares/ Debentures/ Units Transferred Ledger Folio of Transferor Transferor's Name	ote: In case list of tran ledia may be shown.	sfer exceeds 10, option for s	ubmission	as a separa	te sheet	attach	ment	or subn	nission in a CD/	Di
Type of transfer 1 - Equity, 2- Preference Shares, 3 - Debentures, 4 - Stock Number of Shares/ Debentures/ Units Transferred Amount per Share/ Debenture/Unit (in Rs.) Ledger Folio of Transferor Transferor's Name	Date of the previou	s annual general meeting]
Number of Shares/ Debentures/ Units Transferred Ledger Folio of Transferor Transferor's Name	Date of registration	of transfer (Date Month Y	ear)							
Units Transferred Debenture/Unit (in Rs.) Ledger Folio of Transferor Transferor's Name	Type of transf	er 1	- Equity,	2- Prefere	ence Sh	ares,3	- De	benture	es, 4 - Stock	
Transferor's Name		Debentures/					.)			
	Ledger Folio of Tra	nsferor								
	Transferor's Name									_
Surname middle name first name			1				1			

Transferee's Name					
	Surname	middle name	first name		
Date of registration of	of transfer (Date Month Year)				
Type of transfer 1 - Equity, 2- Preference Shares,3 - Debentures, 4 - Stock					
Number of Shares/ Debentures/ Units Transferred Amount per Share/ Debenture/Unit (in Rs.)					
Ledger Folio of Trans	sferor	·			
Transferor's Name					
	Surname	middle name	first name		
Ledger Folio of Transferee					
Transferee's Name					
	Surname	middle name	first name		

(iv) *Debentures (Outstanding as at the end of financial year)

Particulars		Nominal value per unit	Total value
Non-convertible debentures	17,850	5,00,000/10,00,000	16,866,954,978
Partly convertible debentures	0	0	0
Fully convertible debentures	0	0	0
Total			16,866,954,978

Details of debentures

Class of debentures	Outstanding as at the beginning of the		Decrease during the year	Outstanding as at the end of the year
	year			
Non-convertible debentures	9,894,434,090	8,168,677,745	2,196,156,857	15,866,954,978
Partly convertible debentures	0	0	0	0
Fully convertible debentures	0	0	0	0

(v) Securities (other than shares and debentures)

Type of Securities	Number of Securities	Nominal Value of each Unit	Total Nominal Value	Paid up Value of each Unit	Total Paid up Value
Total					

V. *Turnover and net worth of the company (as defined in the Companies Act, 2013)

(i) Turnover

10,407,775,000		

0

(ii) Net worth of the Company

19,011,868,000

VI. (a) *SHARE HOLDING PATTERN - Promoters

S. No.	Category	Equ	ity	Preference	
		Number of shares	Percentage	Number of shares	Percentage
1.	Individual/Hindu Undivided Family				
	(i) Indian	0	0	0	0
	(ii) Non-resident Indian (NRI)	0	0	0	0
	(iii) Foreign national (other than NRI)	0	0	0	0
2.	Government				
	(i) Central Government	0	0	0	0
	(ii) State Government	0	0	0	0
	(iii) Government companies	0	0	0	0
3.	Insurance companies	0	0	0	0
4.	Banks	0	0	0	0
5.	Financial institutions	0	0	0	0

6.	Foreign institutional investors	0	0	0	0
7.	Mutual funds	0	0	0	0
8.	Venture capital	0	0	0	0
9.	Body corporate (not mentioned above)	170,049,735	100	170,049,735	100
10.	Others	0	0	0	0
	Total	170,049,735	100	170,049,735	100

Total number	of shareholders	(promoters)
--------------	-----------------	-------------

7

(b) *SHARE HOLDING PATTERN - Public/Other than promoters

S. No.	Category	Equi	ity	Preference		
		Number of shares	Percentage	Number of shares	Percentage	
1.	Individual/Hindu Undivided Family					
	(i) Indian	0	0	0	0	
	(ii) Non-resident Indian (NRI)	0	0	0	0	
	(iii) Foreign national (other than NRI)	0	0	0	0	
2.	Government					
	(i) Central Government	0	0	0	0	
	(ii) State Government	0	0	0	0	
	(iii) Government companies	0	0	0	0	
3.	Insurance companies	0	0	0	0	
4.	Banks	0	0	0	0	
5.	Financial institutions	0	0	0	0	
6.	Foreign institutional investors	0	0	0	0	
7.	Mutual funds	0	0	0	0	
8.	Venture capital	0	0	0	0	
9.	Body corporate (not mentioned above)	0	0	0	0	
10.	Others	0	0	0	0	

	Total	0	0	0	0	
Total number of shareholders (other than promoters) 0						
	ber of shareholders (Promoters+Publi n promoters)	c / 7				

VII. *NUMBER OF PROMOTERS, MEMBERS, DEBENTURE HOLDERS (Details, Promoters, Members (other than promoters), Debenture holders)

Details	At the beginning of the year	At the end of the year
Promoters	7	7
Members (other than promoters)	0	0
Debenture holders	9	523

VIII. DETAILS OF DIRECTORS AND KEY MANAGERIAL PERSONNEL

(A) *Composition of Board of Directors

Category	Number of directors at the beginning of the year		Number of directors at the end of the year		Percentage of shares held by directors as at the end of year	
	Executive	Non-executive	Executive	Non-executive	Executive	Non-executive
A. Promoter	0	0	0	0	0	0
B. Non-Promoter	0	5	0	5	0	0
(i) Non-Independent	0	2		2	0	0
(ii) Independent	0	3	0	3	0	0
C. Nominee Directors representing	0	0	0	0	0	0
(i) Banks & FIs	0	0	0	0	0	0
(ii) Investing institutions	0	0	0	0	0	0
(iii) Government	0	0	0	0	0	0
(iv) Small share holders	0	0	0	0	0	0
(v) Others	0	0	0	0	0	0
Total	0	5	0	5	0	0

Number of Directors and Key managerial personnel (who is not director) as on the financial year end date

(B) (i) *Details of directors and Key managerial personnel as on the closure of financial year

Name	DIN/PAN	Designation	Number of equity share(s) held	Date of cessation (after closure of financial year : If any)
NASSER MUKHTAR M	00010180	Director	0	
VARSHA VASANT PUF	05288076	Director	0	
VEDIKA BHANDARKAF	00033808	Director	0	
PATHAMADAI BALACH	02762983	Director	0	
SHYAM MANI	00273598	Director	0	
ANINDYA DHAR	ACOPD1393D	Manager	0	01/05/2022
AMIT JAIBHAGWAN MI	AAFPM7681J	CFO	0	
NEERAJ KUMAR DWIV	AKKPD7024M	Company Secretar	0	

(ii) Particulars of change in director(s) and Key managerial personnel during the year

Name		beginning / during	ICHANGE IN ABSIGNATION /	Nature of change (Appointment/ Change in designation/ Cessation)
VARSHA VASANT PUF	05288076	Director	16/06/2021	Appointment
PALAMADAI SUNDAR/	01173236	Director	17/12/2021	Cessation

IX. MEETINGS OF MEMBERS/CLASS OF MEMBERS/BOARD/COMMITTEES OF THE BOARD OF DIRECTORS

A. MEMBERS/CLASS /REQUISITIONED/NCLT/COURT CONVENED MEETINGS

5

Number of meetings held

Attendance Total Number of Type of meeting Date of meeting Members entitled to attend meeting Number of members % of total attended shareholding **EXTRA ORDINARY GENEF** 7 11/05/2021 6 100 EXTRA ORDINARY GENER 7 7 100 18/06/2021 7 7 100 ANNUAL GENERAL MEET 31/08/2021 EXTRA ORDINARY GENER 7 7 100 12/11/2021 7 7 EXTRA ORDINARY GENEF 04/03/2022 100

2

B. BOARD MEETINGS

*Number of meetings held 14

S. No.	S. No. Date of meeting asso				
		of meeting	Number of directors attended	% of attendance	
1	12/04/2021	5	5	100	
2	30/04/2021	5	5	100	
3	11/05/2021	5	5	100	
4	18/06/2021	5	5	100	
5	20/07/2021	5	5	100	
6	07/09/2021	5	5	100	
7	06/10/2021	6	5	83.33	
8	20/10/2021	6	6	100	
9	12/11/2021	6	6	100	
10	17/12/2021	6	6	100	
11	25/01/2022	5	5	100	
12	25/02/2022	5	5	100	

C. COMMITTEE MEETINGS

Number of meetings held

29

S. No.	Type of meeting		Total Number of Members as	Attendance		
	ooig	Date of meeting	on the date of the meeting	Number of members attended	% of attendance	
1	AUDIT COMM	09/04/2021	3	3	100	
2	AUDIT COMM	30/04/2021	3	3	100	
3	AUDIT COMM	11/05/2021	3	3	100	
4	AUDIT COMM	20/07/2021	3	3	100	
5	AUDIT COMM	23/08/2021	3	3	100	
6	AUDIT COMM	07/09/2021	3	3	100	
7	AUDIT COMM	18/10/2021	5	5	100	

S. No.	Type of meeting		Total Number of Members as		
		Date of meeting	on the date of	Number of members attended	% of attendance
8	AUDIT COMM	14/12/2021	4	4	100
9	AUDIT COMM	25/01/2022	3	3	100
10	AUDIT COMM	25/02/2022	3	3	100

D. *ATTENDANCE OF DIRECTORS

		Board Meetings			Committee Meetings			Whether attended AGM
S. No.	of the director		Meetings			Number of Meetings attended	% of attendance	held on
		attend			attend			(Y/N/NA)
1	NASSER MUP	14	14	100	7	7	100	
2	VARSHA VAS	8	8	100	13	13	100	
3	VEDIKA BHAI	14	13	92.86	20	19	95	
4	PATHAMADA	14	14	100	27	27	100	
5	SHYAM MANI	14	14	100	18	18	100	

X. *REMUNERATION OF DIRECTORS AND KEY MANAGERIAL PERSONNEL

Number of Managing Director, Whole-time Directors and/or Manager whose remuneration details to be entered

0

S. No.	Name	Designation	Gross Salary	Commission	Stock Option/ Sweat equity	Others	Total Amount
1							0
	Total						

Number of CEO, CFO and Company secretary whose remuneration details to be entered

О

S. No.	Name	Designation	Gross Salary	Commission	Stock Option/ Sweat equity	Others	Total Amount
1							0
	Total						

Number of other directors whose remuneration details to be entered

S. No.	Name	Designation	Gross Salary	Commission	Stock Option/ Sweat equity	Others	Total Amount
1	NASSER MUKHTAI	Independent Dir	0	0	0	940,000	940,000
2	VEDIKA BHANDAR	Independent Dir	0	0	0	1,480,000	1,480,000
3	PALAMADAI SUND	Independent Dir	0	0	0	1,170,000	1,170,000
4	VARSHA VASANT	Independent Dir	0	0	0	920,000	920,000
5	SHYAM MANI	Non-Executive [0	0	0	1,260,000	1,260,000
	Total		0	0	0	5,770,000	5,770,000

ΥI	MATTERS REI	ATED TO	CERTIFIC	ATION OF	COMPLIA	NCES AN	חשברו	OSLIBES
AI.	IVIALIEDS DEL	AIFILIO	CEDILER	A I IL JIV L JE	CCHUELIA	INCLO AIN	1111511	USUBES

* A. Whether the corprovisions of the	mpany has made com e Companies Act, 201	pliances and disclos 3 during the year	sures in respect of appl	licable Yes	○ No
B. If No, give reason	ons/observations				
(II. PENALTY AND P IA) DETAILS OF PENA			COMPANY/DIRECTOR	S/OFFICERS 🔀 🛭	Nil
Name of the company/ directors/ officers	Name of the court/ concerned Authority		Name of the Act and section under which penalised / punished	Details of penalty/ punishment	Details of appeal (if any) including present status
(B) DETAILS OF CO	MPOUNDING OF OF	FENCES 🛛 N	il		
Name of the company/ directors/ officers	Name of the court/ concerned Authority	Date of Order	Name of the Act and section under which offence committed	Particulars of offence	Amount of compounding (in Rupees)
XIII. Whether comp • Ye	_	lers, debenture ho	lders has been enclos	sed as an attachme	nt

XIV. COMPLIANCE OF SUB-SECTION (2) OF SECTION 92, IN CASE OF LISTED COMPANIES

In case of a listed company or a company having paid up share capital of Ten Crore rupees or more or turnover of Fifty Crore rupees or more, details of company secretary in whole time practice certifying the annual return in Form MGT-8.

Name	SUHAS S. GANPULE	
------	------------------	--

Whether associate	or fellow	A	ssociate 🔾	Fellow				
Certificate of pract	ice number	5722						
We certify that: (a) The return states the states the states of the states the states that the states that the states are states that the states are states and the states are	expressly stated to							s of the
			Declaration	ı				
I am Authorised by the	e Board of Director	s of the com	pany vide reso	lution no	07	dated	20/03/2019	7
(DD/MM/YYYY) to sig in respect of the subje					npanies Act, 201		made thereund	der
	stated in this form natter of this form h							
2. All the requir	ed attachments ha	we been com	npletely and leg	gibly attached	to this form.			
Note: Attention is al punishment for frau							ct, 2013 which	provide fo
To be digitally signe	d by							
Director								
DIN of the director	09	537539						
To be digitally signe	ed by							
Company Secreta	ry							
Company secretar	y in practice							
Membership number	20874		Certificate	of practice nu	ımber			

Attachments List of attachments 1. List of share holders, debenture holders TMFSL List of Shareholders-31 March 202 Attach TMFSL List of Debentureholders 31 March Meeting Attendance FY 2021-22.pdf 2. Approval letter for extension of AGM; **Attach** 3. Copy of MGT-8; Attach 4. Optional Attachement(s), if any Attach Remove attachment Prescrutiny Submit Modify Check Form

This eForm has been taken on file maintained by the Registrar of Companies through electronic mode and on the basis of statement of correctness given by the company



SHARE HOLDING PATTERN OF TATA MOTORS FINANCE SOLUTIONS LIMITED AS ON MARCH 31, 2022

Sr. No	Name of Shareholder	Number of Equity Shares held	Amount paid up (Rupees)	%age of total
1	TMF Holdings Limited	170,049,729	17,004,972,900	100
2	TMF Holdings Limited jointly with Mr. P.B. Balaji	1	100	-
3	TMF Holdings Limited jointly with Mr. Shyam Mani	1	100	-
4	TMF Holdings Limited jointly with Mr. Samrat Gupta	1	100	-
5	TMF Holdings Limited jointly with Mr. Amit Mittal	1	100	-
6	TMF Holdings Limited jointly with Mr. Anand Bang	1	100	-
7	TMF Holdings Limited jointly with Mr. Rohit Sarda	1	100	-
	Total	170,049,735	17,004,973,500	100.00

For TATA MOTORS FINANCE SOLUTIONS LIMITED

NEERAJ DWIVEDI

Company Secretary

Membership No: A20874

Neeray Duinedi

Listed / Unlisted	COUNT	first_holder_name	ben_free_po	isin_no	FACE ALUE	AMOUNT
LISTED	1	ICICI PRUDENTIAL SHORT TERM FUND	1950	INE477S08068	500000	97,50,00,000
LISTED	1	ICICI PRUDENTIAL FLOATING INTEREST FUND	950	INE477S08076	1000000	95,00,00,000
LISTED	1	ICICI PRUDENTIAL ULTRA SHORT TERM FUND	1000	INE477S08076	1000000	1,00,00,00,000
LISTED	1	HDFC TRUSTEE COMPANY LTD A/C HDFC FLOATING RATE DEBT FUND	600	INE477S08084	1000000	60,00,00,000
LISTED	1	HDFC TRUSTEE COMPANY LIMITED A/C HDFC MEDIUM TERM DEBT FUND	400	INE477S08084	1000000	40,00,00,000
LISTED	1	HDFC TRUSTEE COMPANY LIMITED A/C HDFC LOW DURATION FUND	500	INE477S08084	1000000	50,00,00,000
LISTED	1	HDFC TRUSTEE COMPANY LTD A/C HDFC SHORT TERM DEBT FUND	500	INE477S08084	1000000	50,00,00,000
LISTED	1	SBI EQUITY HYBRID FUND	2500	INE477S08084	1000000	2,50,00,00,000
LISTED		SBI MAGNUM MEDIUM DURATION FUND		INE477S08084	1000000	1,50,00,00,000
LISTED	1	ICICI PRUDENTIAL ULTRA SHORT TERM FUND	500	INE477S08092	1000000	50,00,00,000
LISTED	1	ICICI PRUDENTIAL CREDIT RISK FUND	450	INE477S08092	1000000	45,00,00,000
LISTED	1	ICICI PRUDENTIAL MEDIUM TERM BOND FUND	1000	INE477S08092	1000000	1,00,00,00,000
LISTED	1	ICICI PRUDENTIAL ALL SEASONS BOND FUND	1000	INE477S08100	1000000	1,00,00,00,000
LISTED	1	ICICI PRUDENTIAL SHORT TERM FUND	2000	INE477S08100	1000000	2,00,00,00,000
LISTED	1	ICICI PRUDENTIAL CREDIT RISK FUND	1000	INE477S08100	1000000	1,00,00,00,000
LISTED	1	WIPRO ENTERPRISES PRIVATE LIMITED	1000	INE477S08118	1000000	1,00,00,00,000
LISTED Total	16		16850			15,87,50,00,000
UNLISTED	1	S P CAPITAL FINANCING LTD	1	INE477S08126	1000000	10,00,000
UNLISTED	1	STAKEHOLDERS EMPOWERMENT SERVICES	3	INE477S08126	1000000	30,00,000
UNLISTED		ADITYA TREXIM PVT. LTD.		INE477S08126	1000000	30,00,000
UNLISTED		IRIS MERCHANTILE PRIVATE LIMITED		INE477S08126	1000000	70,00,000
UNLISTED		SYNERGEE CAPITAL SERVICES PRIVATE LIMITED		INE477S08126	1000000	60,00,000
UNLISTED		VASUNDHARA DEALER PVT LTD	10	INE477S08126	1000000	1,00,00,000
UNLISTED		GEM MANUFACTURERS PRIVATE LIMITED	2	INE477S08126	1000000	20,00,000
UNLISTED	1	INDIA GELATINE & CHEMICALS LTD		INE477S08126	1000000	40,00,000
UNLISTED		HARI ORGOCHEM PVT LTD	20	INE477S08126	1000000	2,00,00,000
UNLISTED		KGMS BROKING AND RESEARCH PRIVATE LTD	2	INE477S08126	1000000	20,00,000
UNLISTED		DERIVIUM TRADITION SECURITIES (INDIA) PVT. LTD.	11	INE477S08126	1000000	1,10,00,000
UNLISTED		DHIRANAND ENGINEERS PRIVATE LIMITED	1	INE477S08126	1000000	10,00,000
UNLISTED	1	ONSHORE CONSTRUCTION CO PVT LTD	6	INE477S08126	1000000	60,00,000
UNLISTED	1	KISHORE VADILAL PRIVATE LIMITED	10	INE477S08126	1000000	1,00,00,000
UNLISTED	1	ALOKE SPECIALITY MACHINES AND COMPONENTS PVT LTD	1	INE477S08126	1000000	10,00,000
UNLISTED	1	ROYAL STITCHES PRIVATE LIMITED	10	INE477S08126	1000000	1,00,00,000

UNLISTED	1 INDCHEMIE HEALTH SPECIALITIES PRIVATE	10 INE477S08126	1000000	1,00,00,000
UNLISTED	1 VAIBHAV PROPERTY AND ADVISORS PRIVATE LIMITED	1 INE477S08126	1000000	10,00,000
UNLISTED	1 WINSOFT TECHNOLOGIES (I) PVT LTD	1 INE477S08126	1000000	10,00,000
UNLISTED	1 VISTRA ITCL (INDIA) LIMITED	10 INE477S08126	1000000	1,00,00,000
UNLISTED	1 MANGSIDESH SECURITIES PRIVATE LIMITED	1 INE477S08126	1000000	10,00,000
UNLISTED	1 EDELWEISS FINANCE AND INVESTMENTS LIMITED	14 INE477S08126	1000000	1,40,00,000
UNLISTED	1 Gujarat JHM Hotels Ltd	30 INE477S08126	1000000	3,00,00,000
UNLISTED	1 SDC PROPERTIES PRIVATE LIMITED	5 INE477S08126	1000000	50,00,000
UNLISTED	1 RAGHURAM FINANCIAL SERVICES PRIVATE LIMITED	1 INE477S08126	1000000	10,00,000
UNLISTED	1 LAMBODHARA TEXTILES LIMITED	10 INE477S08126	1000000	1,00,00,000
UNLISTED	1 INDIAN REGISTER OF	50 INE477S08126	1000000	5,00,00,000
UNLISTED	1 SHAH DIPEN DIPAK BHAI	1 INE477S08126	1000000	10,00,000
UNLISTED	1 NIRAV HEMENDRABHAI SHAH HUF	2 INE477S08126	1000000	20,00,000
UNLISTED	1 NILESH SAKARCHAND SHAH HUF	1 INE477S08126	1000000	10,00,000
UNLISTED	1 HEMENDRA SHAH	1 INE477S08126	1000000	10,00,000
UNLISTED	1 GAUTAM C SHAH	1 INE477S08126	1000000	10,00,000
UNLISTED	1 CHANDRAKUMAR N SHAH	1 INE477S08126	1000000	10,00,000
UNLISTED	1 PRAKASH MOTILAL DOSHI	1 INE477S08126	1000000	10,00,000
UNLISTED	1 RATHOD LAXMIRAJ MANSINGHJI	5 INE477S08126	1000000	50,00,000
UNLISTED	1 HARSHAD RAVAL HUF	1 INE477S08126	1000000	10,00,000
UNLISTED	1 NIRMAL KUMAR AGARWAL	1 INE477S08126	1000000	10,00,000
UNLISTED	1 A B KUCHERIA	1 INE477S08126	1000000	10,00,000
UNLISTED	1 GAUTAM KRISHNALAL DESAI (HUF)	2 INE477S08126	1000000	20,00,000
UNLISTED	1 ROHIT BHOGILAL PATEL	1 INE477S08126	1000000	10,00,000
UNLISTED	1 BHOGILAL NARSIDAS PATEL	1 INE477S08126	1000000	10,00,000
UNLISTED	1 SURESH J DOSHI (HUF)	1 INE477S08126	1000000	10,00,000
UNLISTED	1 ROOP KISHINCHAND KHEMANI HUF	1 INE477S08126	1000000	10,00,000
UNLISTED	1 SURYAKANT MATHURADAS MADLANI (HUF)	2 INE477S08126	1000000	20,00,000
UNLISTED	1 SUDHANSHU BHUSHAN CHADHA AND SONS (HUF)	2 INE477S08126	1000000	20,00,000
UNLISTED	1 LAXMI NARAYAN BAHETI HUF	2 INE477S08126	1000000	20,00,000
UNLISTED	1 PRIYAVADAN DALAL HUF	1 INE477S08126	1000000	10,00,000
UNLISTED	1 BHARAT KESHAVLAL SHAH	1 INE477S08126	1000000	10,00,000
UNLISTED	1 SAGAR SHAILESH SHAH HUF	1 INE477S08126	1000000	10,00,000
UNLISTED	1 DARSHAN M THAKER HUF	1 INE477S08126	1000000	10,00,000
UNLISTED	1 WALIA SUMEET MAHENDRA	2 INE477S08126	1000000	20,00,000
UNLISTED	1 VINOD V THAKKER HUF	1 INE477S08126	1000000	10,00,000
UNLISTED	1 KUKADIA RAMESHBHAI BHIKHABHAI HUF	1 INE477S08126	1000000	10,00,000
UNLISTED	1 HEMLAL BADHO MODI	3 INE477S08126	1000000	30,00,000
UNLISTED	1 H S SHAH	2 INE477S08126	1000000	20,00,000
UNLISTED	1 MANAN HEMENDRA SHAH	2 INE477S08126	1000000	20,00,000
UNLISTED	1 KUNAL C DOSHI HUF	1 INE477S08126	1000000	10,00,000
UNLISTED	1 Y M CHAUDHRY & SONS HUF	2 INE477S08126	1000000	20,00,000
UNLISTED	1 MAHESH MEHTA HUF.	1 INE477S08126	1000000	10,00,000
UNLISTED UNLISTED	1 INDERJIT BHATLA (HUF) . 1 AMRISH KANTILAL MEHTA [HUF]	5 INE477S08126 1 INE477S08126	1000000 1000000	50,00,000 10,00,000
UNLISTED	1 GIRISH KESHAV LALWANI HUF .	1 INE477S08126	1000000	10,00,000
UNLISTED	1 DIXIT VIJAY KRISHNA .	1 INE477S08126	1000000	10,00,000
UNLISTED	1 AMEET SURESH SHAH HUF .	1 INE477S08126	1000000	10,00,000
UNLISTED	1 RASHMIN UTTAMLAL MEHTA HUF .	1 INE477S08126	1000000	10,00,000
UNLISTED	1 YATIN THAKORLAL SHAH	5 INE477S08126	1000000	50,00,000
UNLISTED	1 NIKHIL JAVERILAL SHAH HUF .	1 INE477S08126	1000000	10,00,000
UNLISTED	1 ASHISH ARUN NILAWAR HUF	1 INE477S08126	1000000	10,00,000

UNLISTED	1 SACHDEV SHIVKUMAR KANAYALAL .	1 INE477S08126	1000000	10,00,000
UNLISTED	1 KALPESH JIVANLAL SHAH HUF	2 INE477S08126	1000000	20,00,000
UNLISTED	1 RAHUL KHARE & SONS HUF	5 INE477S08126	1000000	50,00,000
UNLISTED	1 KIRIT LAVJI THACKER HUF	1 INE477S08126	1000000	10,00,000
UNLISTED	1 TUSHAR AMIN HUF .	1 INE477S08126	1000000	10,00,000
UNLISTED	1 ASHWANI KUMAR JAIN	1 INE477S08126	1000000	10,00,000
UNLISTED	1 HITENDRABHAI HIRABHAI PATEL	1 INE477S08126	1000000	10,00,000
UNLISTED	1 CHANDRAKANT R CHHEDA H U F	2 INE477S08126	1000000	20,00,000
UNLISTED	1 JOSE A GEORGE	1 INE477S08126	1000000	10,00,000
UNLISTED	1 SATYA SAI PRAKASH SUNKU	1 INE477S08126	1000000	10,00,000
UNLISTED	1 N RAMDAS	2 INE477S08126	1000000	20,00,000
UNLISTED	1 CHANDRAKANT SANJIVA SALIAN	4 INE477S08126	1000000	40,00,000
UNLISTED	1 MAYASANDRA NAGARAJ RAVINDRA	2 INE477S08126	1000000	20,00,000
UNLISTED	1 TEHMI PHIROZE MEHTA	2 INE477S08126	1000000	20,00,000
UNLISTED	1 ROSY MOHAN GURBAXANI	1 INE477S08126	1000000	10,00,000
UNLISTED	1 NILABH NAGAR	1 INE477S08126	1000000	10,00,000
UNLISTED	1 SHAH HEMANT MANUBHAI	1 INE477S08126	1000000	10,00,000
UNLISTED	1 VARSHA TRIPATHI	1 INE477S08126	1000000	10,00,000
UNLISTED	1 DR PARIMAL TRIPATHI	1 INE477S08126	1000000	10,00,000
UNLISTED	1 JEHANGIR NARIMAN MISTRY	1 INE477S08126	1000000	10,00,000
UNLISTED	1 KHURSHID JEHANGIR MISTRY	1 INE477S08126	1000000	10,00,000
UNLISTED	1 SABINA ANOOP SAKRANEY	1 INE477S08126	1000000	10,00,000
UNLISTED UNLISTED	1 DILIP RATILAL BHANSALI 1 SONAL JAYESH SHAH	1 INE477S08126 10 INE477S08126	1000000 1000000	10,00,000
UNLISTED	1 SHYAM SUNDER GUPTA	2 INE477S08126	1000000	1,00,00,000 20,00,000
UNLISTED	1 R RAJAGOPAL	1 INE477S08126	1000000	10,00,000
UNLISTED	1 PREMKUMAR RAMCHANDRA APTE	1 INE477S08126	1000000	10,00,000
UNLISTED	1 GOPIKA VAISHNAV	2 INE477S08126	1000000	20,00,000
UNLISTED	1 ABHITA JAIN	1 INE477S08126	1000000	10,00,000
UNLISTED	1 PRIYA ANAND	1 INE477S08126	1000000	10,00,000
UNLISTED	1 BRIAN CAJETAN DCRUZ	1 INE477S08126	1000000	10,00,000
UNLISTED	1 VAIBHAV KULKARNI	1 INE477S08126	1000000	10,00,000
UNLISTED	1 RAKESH N SUTHAR	1 INE477S08126	1000000	10,00,000
UNLISTED	1 RAVICHANDRAN	2 INE477S08126	1000000	20,00,000
UNLISTED	1 JITENDAR TAYAL	10 INE477S08126	1000000	1,00,00,000
UNLISTED	1 VANDANA MITTAL			
UNLISTED	4 DELLIAM ONDWIND DAGANE	3 INE477S08126	1000000	30,00,000
UNLISTED	1 DEVAYANI SHRIKANT RASANE	1 INE477S08126	1000000	10,00,000
UNLISTED UNLISTED	1 RENU SHARMA	1 INE477S08126 1 INE477S08126	1000000 1000000	10,00,000 10,00,000
	1 RENU SHARMA 1 K P GURUDATH	1 INE477S08126 1 INE477S08126 2 INE477S08126	1000000 1000000 1000000	10,00,000 10,00,000 20,00,000
	1 RENU SHARMA 1 K P GURUDATH 1 MEENA SHAH	1 INE477S08126 1 INE477S08126 2 INE477S08126 1 INE477S08126	1000000 1000000 1000000 1000000	10,00,000 10,00,000 20,00,000 10,00,000
UNLISTED	1 RENU SHARMA 1 K P GURUDATH 1 MEENA SHAH 1 JACKLINE DIPESH SHAH	1 INE477S08126 1 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126	1000000 1000000 1000000 1000000 1000000	10,00,000 10,00,000 20,00,000 10,00,000 10,00,000
UNLISTED UNLISTED	1 RENU SHARMA 1 K P GURUDATH 1 MEENA SHAH 1 JACKLINE DIPESH SHAH 1 HEMENDRA S SHAH	1 INE477S08126 1 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE477S08126	1000000 1000000 1000000 1000000 1000000 1000000	10,00,000 10,00,000 20,00,000 10,00,000 10,00,000 20,00,000
UNLISTED UNLISTED UNLISTED	1 RENU SHARMA 1 K P GURUDATH 1 MEENA SHAH 1 JACKLINE DIPESH SHAH 1 HEMENDRA S SHAH 1 NEHA JIGAR KSHATRI	1 INE477S08126 1 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126	1000000 1000000 1000000 1000000 1000000 1000000	10,00,000 10,00,000 20,00,000 10,00,000 10,00,000 20,00,000 10,00,000
UNLISTED UNLISTED UNLISTED UNLISTED	1 RENU SHARMA 1 K P GURUDATH 1 MEENA SHAH 1 JACKLINE DIPESH SHAH 1 HEMENDRA S SHAH 1 NEHA JIGAR KSHATRI 1 TEHMI ERUCH SETHNA	1 INE477S08126 1 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126	1000000 1000000 1000000 1000000 1000000 1000000	10,00,000 10,00,000 20,00,000 10,00,000 10,00,000 20,00,000
UNLISTED UNLISTED UNLISTED	1 RENU SHARMA 1 K P GURUDATH 1 MEENA SHAH 1 JACKLINE DIPESH SHAH 1 HEMENDRA S SHAH 1 NEHA JIGAR KSHATRI	1 INE477S08126 1 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126	1000000 1000000 1000000 1000000 1000000 1000000	10,00,000 10,00,000 20,00,000 10,00,000 10,00,000 20,00,000 10,00,000 10,00,000
UNLISTED UNLISTED UNLISTED UNLISTED UNLISTED	1 RENU SHARMA 1 K P GURUDATH 1 MEENA SHAH 1 JACKLINE DIPESH SHAH 1 HEMENDRA S SHAH 1 NEHA JIGAR KSHATRI 1 TEHMI ERUCH SETHNA 1 ALPESH TRILOK PARIKH	1 INE477S08126 1 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE477S08126 2 INE477S08126 5 INE477S08126 5 INE477S08126	1000000 1000000 1000000 1000000 1000000 1000000 1000000 1000000	10,00,000 10,00,000 20,00,000 10,00,000 10,00,000 20,00,000 10,00,000 10,00,000 20,00,000
UNLISTED UNLISTED UNLISTED UNLISTED UNLISTED UNLISTED UNLISTED	1 RENU SHARMA 1 K P GURUDATH 1 MEENA SHAH 1 JACKLINE DIPESH SHAH 1 HEMENDRA S SHAH 1 NEHA JIGAR KSHATRI 1 TEHMI ERUCH SETHNA 1 ALPESH TRILOK PARIKH 1 MALA B	1 INE477S08126 1 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE477S08126 1 INE477S08126	1000000 1000000 1000000 1000000 1000000 1000000 1000000 1000000 1000000	10,00,000 10,00,000 20,00,000 10,00,000 10,00,000 20,00,000 10,00,000 10,00,000 20,00,000 10,00,000
UNLISTED UNLISTED UNLISTED UNLISTED UNLISTED UNLISTED UNLISTED UNLISTED	1 RENU SHARMA 1 K P GURUDATH 1 MEENA SHAH 1 JACKLINE DIPESH SHAH 1 HEMENDRA S SHAH 1 NEHA JIGAR KSHATRI 1 TEHMI ERUCH SETHNA 1 ALPESH TRILOK PARIKH 1 MALA B 1 RAMAN KUMAR KHOSLA	1 INE477S08126 1 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE477S08126 2 INE477S08126 5 INE477S08126 5 INE477S08126	1000000 1000000 1000000 1000000 1000000 1000000 1000000 1000000 1000000 1000000	10,00,000 10,00,000 20,00,000 10,00,000 10,00,000 20,00,000 10,00,000 10,00,000 20,00,000 50,00,000
UNLISTED UNLISTED UNLISTED UNLISTED UNLISTED UNLISTED UNLISTED UNLISTED UNLISTED	1 RENU SHARMA 1 K P GURUDATH 1 MEENA SHAH 1 JACKLINE DIPESH SHAH 1 HEMENDRA S SHAH 1 NEHA JIGAR KSHATRI 1 TEHMI ERUCH SETHNA 1 ALPESH TRILOK PARIKH 1 MALA B 1 RAMAN KUMAR KHOSLA 1 AJAY PANDIT	1 INE477S08126 1 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 1 INE477S08126 1 INE477S08126 1 INE477S08126	1000000 1000000 1000000 1000000 1000000 1000000 1000000 1000000 1000000 1000000	10,00,000 10,00,000 20,00,000 10,00,000 10,00,000 10,00,000 10,00,000 20,00,000 10,00,000 50,00,000 10,00,000
UNLISTED	1 RENU SHARMA 1 K P GURUDATH 1 MEENA SHAH 1 JACKLINE DIPESH SHAH 1 HEMENDRA S SHAH 1 NEHA JIGAR KSHATRI 1 TEHMI ERUCH SETHNA 1 ALPESH TRILOK PARIKH 1 MALA B 1 RAMAN KUMAR KHOSLA 1 AJAY PANDIT 1 VANITA DE NORONHA	1 INE477S08126 1 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 1 INE477S08126 1 INE477S08126 1 INE477S08126	1000000 1000000 1000000 1000000 1000000 1000000 1000000 1000000 1000000 1000000 1000000	10,00,000 10,00,000 20,00,000 10,00,000 10,00,000 10,00,000 10,00,000 20,00,000 10,00,000 50,00,000 10,00,000 10,00,000
UNLISTED	1 RENU SHARMA 1 K P GURUDATH 1 MEENA SHAH 1 JACKLINE DIPESH SHAH 1 HEMENDRA S SHAH 1 NEHA JIGAR KSHATRI 1 TEHMI ERUCH SETHNA 1 ALPESH TRILOK PARIKH 1 MALA B 1 RAMAN KUMAR KHOSLA 1 AJAY PANDIT 1 VANITA DE NORONHA 1 CHANDRAKANT MOHANLAL SHETH	1 INE477S08126 1 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE477S08126 2 INE477S08126 1 INE477S08126	1000000 1000000 1000000 1000000 1000000 1000000	10,00,000 10,00,000 20,00,000 10,00,000 10,00,000 10,00,000 10,00,000 20,00,000 10,00,000 50,00,000 10,00,000 10,00,000 10,00,000
UNLISTED	1 RENU SHARMA 1 K P GURUDATH 1 MEENA SHAH 1 JACKLINE DIPESH SHAH 1 HEMENDRA S SHAH 1 NEHA JIGAR KSHATRI 1 TEHMI ERUCH SETHNA 1 ALPESH TRILOK PARIKH 1 MALA B 1 RAMAN KUMAR KHOSLA 1 AJAY PANDIT 1 VANITA DE NORONHA 1 CHANDRAKANT MOHANLAL SHETH 1 ANJU GATTANI 1 CHETAN JANKIRAM CHAUDHARI 1 KIRAN KLAIRE	1 INE477S08126 1 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE477S08126 2 INE477S08126 1 INE477S08126	1000000 1000000 1000000 1000000 1000000 1000000	10,00,000 10,00,000 20,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
UNLISTED	1 RENU SHARMA 1 K P GURUDATH 1 MEENA SHAH 1 JACKLINE DIPESH SHAH 1 HEMENDRA S SHAH 1 NEHA JIGAR KSHATRI 1 TEHMI ERUCH SETHNA 1 ALPESH TRILOK PARIKH 1 MALA B 1 RAMAN KUMAR KHOSLA 1 AJAY PANDIT 1 VANITA DE NORONHA 1 CHANDRAKANT MOHANLAL SHETH 1 ANJU GATTANI 1 CHETAN JANKIRAM CHAUDHARI 1 KIRAN KLAIRE 1 KHAZAN SINGH	1 INE477S08126 1 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE477S08126 2 INE477S08126 1 INE477S08126	1000000 1000000 1000000 1000000 1000000 1000000	10,00,000 10,00,000 20,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
UNLISTED	1 RENU SHARMA 1 K P GURUDATH 1 MEENA SHAH 1 JACKLINE DIPESH SHAH 1 HEMENDRA S SHAH 1 NEHA JIGAR KSHATRI 1 TEHMI ERUCH SETHNA 1 ALPESH TRILOK PARIKH 1 MALA B 1 RAMAN KUMAR KHOSLA 1 AJAY PANDIT 1 VANITA DE NORONHA 1 CHANDRAKANT MOHANLAL SHETH 1 ANJU GATTANI 1 CHETAN JANKIRAM CHAUDHARI 1 KIRAN KLAIRE 1 KHAZAN SINGH 1 PRAGNESH P SHAH	1 INE477S08126 1 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE477S08126 2 INE477S08126 1 INE477S08126	1000000 1000000 1000000 1000000 1000000 1000000	10,00,000 10,00,000 20,00,000 10,00,000
UNLISTED	1 RENU SHARMA 1 K P GURUDATH 1 MEENA SHAH 1 JACKLINE DIPESH SHAH 1 HEMENDRA S SHAH 1 NEHA JIGAR KSHATRI 1 TEHMI ERUCH SETHNA 1 ALPESH TRILOK PARIKH 1 MALA B 1 RAMAN KUMAR KHOSLA 1 AJAY PANDIT 1 VANITA DE NORONHA 1 CHANDRAKANT MOHANLAL SHETH 1 ANJU GATTANI 1 CHETAN JANKIRAM CHAUDHARI 1 KIRAN KLAIRE 1 KHAZAN SINGH 1 PRAGNESH P SHAH 1 KEKUL P DALAL	1 INE477S08126 1 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE47S08126 1 INE47S08126	1000000 1000000 1000000 1000000 1000000 1000000	10,00,000 10,00,000 20,00,000 10,00,000
UNLISTED	1 RENU SHARMA 1 K P GURUDATH 1 MEENA SHAH 1 JACKLINE DIPESH SHAH 1 HEMENDRA S SHAH 1 NEHA JIGAR KSHATRI 1 TEHMI ERUCH SETHNA 1 ALPESH TRILOK PARIKH 1 MALA B 1 RAMAN KUMAR KHOSLA 1 AJAY PANDIT 1 VANITA DE NORONHA 1 CHANDRAKANT MOHANLAL SHETH 1 ANJU GATTANI 1 CHETAN JANKIRAM CHAUDHARI 1 KIRAN KLAIRE 1 KHAZAN SINGH 1 PRAGNESH P SHAH 1 KEKUL P DALAL 1 ALPA PRIYAVADAN DALAL	1 INE477S08126 1 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE47S08126 1 INE47S08126	1000000 1000000 1000000 1000000 1000000 1000000	10,00,000 10,00,000
UNLISTED	1 RENU SHARMA 1 K P GURUDATH 1 MEENA SHAH 1 JACKLINE DIPESH SHAH 1 HEMENDRA S SHAH 1 NEHA JIGAR KSHATRI 1 TEHMI ERUCH SETHNA 1 ALPESH TRILOK PARIKH 1 MALA B 1 RAMAN KUMAR KHOSLA 1 AJAY PANDIT 1 VANITA DE NORONHA 1 CHANDRAKANT MOHANLAL SHETH 1 ANJU GATTANI 1 CHETAN JANKIRAM CHAUDHARI 1 KIRAN KLAIRE 1 KHAZAN SINGH 1 PRAGNESH P SHAH 1 KEKUL P DALAL 1 SHILPA K DALAL	1 INE477S08126 1 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE47S08126 1 INE47S08126	1000000 1000000 1000000 1000000 1000000 1000000	10,00,000 10,00,000
UNLISTED	1 RENU SHARMA 1 K P GURUDATH 1 MEENA SHAH 1 JACKLINE DIPESH SHAH 1 HEMENDRA S SHAH 1 NEHA JIGAR KSHATRI 1 TEHMI ERUCH SETHNA 1 ALPESH TRILOK PARIKH 1 MALA B 1 RAMAN KUMAR KHOSLA 1 AJAY PANDIT 1 VANITA DE NORONHA 1 CHANDRAKANT MOHANLAL SHETH 1 ANJU GATTANI 1 CHETAN JANKIRAM CHAUDHARI 1 KIRAN KLAIRE 1 KHAZAN SINGH 1 PRAGNESH P SHAH 1 KEKUL P DALAL 1 SHILPA K DALAL 1 NAMRATA KETAN PARIKH	1 INE477S08126 1 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE47S08126 1 INE47S08126	1000000 1000000 1000000 1000000 1000000 1000000	10,00,000 10,00,000
UNLISTED	1 RENU SHARMA 1 K P GURUDATH 1 MEENA SHAH 1 JACKLINE DIPESH SHAH 1 HEMENDRA S SHAH 1 NEHA JIGAR KSHATRI 1 TEHMI ERUCH SETHNA 1 ALPESH TRILOK PARIKH 1 MALA B 1 RAMAN KUMAR KHOSLA 1 AJAY PANDIT 1 VANITA DE NORONHA 1 CHANDRAKANT MOHANLAL SHETH 1 ANJU GATTANI 1 CHETAN JANKIRAM CHAUDHARI 1 KIRAN KLAIRE 1 KHAZAN SINGH 1 PRAGNESH P SHAH 1 KEKUL P DALAL 1 SHILPA K DALAL	1 INE477S08126 1 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE477S08126 1 INE477S08126 1 INE477S08126 1 INE477S08126 2 INE47S08126 1 INE47S08126	1000000 1000000 1000000 1000000 1000000 1000000	10,00,000 10,00,000

SALESTED		4			40.00.000
UNLISTED INTERNORA SHIVLAL PARIKH INL-77508126 1000000 100,000 1	UNLISTED	1 ALPANA AVINASH DEODHAR	1 INE477S08126	1000000	10,00,000
UNLISTED REAHA AGNANI INLIFT/988126 1000000 20,00,000					/ /
UNLISTED I.ASKIMI NGASPAN I.NE17758126 1000000 10,00,000					
UNISTED I.A.SSHMI NAGAPPAN 1.NF47788126 1000000 10,00,000					
INLISTED I.N.YISWESWARA RAO 2 NE477580126 1000000 20,00,000 I.N.ISTED I.P.E.MORIAN 2 NE477580126 1000000 10,00,000 I.N.ISTED I.N.YISHANKAR I.N.E.YISS0126 1000000 10,00,000 I.N.ISTED I.N.YISHANKAR I.N.E.YISS0126 1000000 10,00,000 I.N.ISTED I.N.YISHANKAR I.N.E.YISS0126 1000000 10,00,000 I.N.ISTED					
UNILSTED P.R. MOHAN 2 NE477508126 1000000 20,00,000					
UNISTED 1 A.VIJAYSHANKAR					
UNLISTED N.VENUGOPALAN 1.NE477588126 1000000 10,00,000					
INLISTED I. INCOCHIAAM					
UNLISTED IN.KOCHULAXMI					
UNLISTED J. R.ARTHIK 2. NE477508126 1,000,000 1,000,00					
INLESTED IN.KOCHHILAXMI IN.E477S08126 1000000 10,00,000 10,00,000 INLESTED IGANESHAN ARUNACHALAM IN.E477S08126 1000000 10,00,000 INLESTED IGANESHAN ARUNACHALAM IN.E477S08126 1000000 10,00,000 INLESTED IRLINATED IRLINATED IRLINATED IRLINATED IRLINATED IRLINATED IRLINATED IRLINATED IRLINASTED					
UNILSTED I GOPALAN JALIAN					
UNLISTED					
CHETTAR					
INLISTED	UNLISTED		1 INE477S08126	1000000	10,00,000
UNILSTED	LIMI ICTED		4 INIE477809126	1000000	40.00.000
UNLISTED					
INILISTED I GAVATHRI UMASITHAN 8 INEAT7508126 1000000 10,00,000 UNILISTED I MURARILAL SHARMA INEAT7508126 1000000 10,00,000 UNILISTED I SAMBASIVAN YENKATACHALAM I INEAT7508126 1000000 10,00,000 UNILISTED I PARAG HEMANI INEAT7508126 1000000 10,00,000 UNILISTED I NASREEN YOUSUFALI FAZALBHOY I INEAT7508126 1000000 10,00,000 UNILISTED I JACINTA MENDONCA I INEAT7508126 1000000 10,00,000 UNILISTED I DESAI BHARKAT BHARILAL I INEAT7508126 1000000 10,00,000 UNILISTED I DESAI BHARKAT BHARILAL I INEAT7508126 1000000 10,00,000 UNILISTED I RAIADHYAKSHA ASHLESHA VINAY I INEAT7508126 1000000 10,00,000 UNILISTED I SUBRATA DE I INEAT7508126 1000000 10,00,000 UNILISTED I SUBRATA DE I INEAT7508126 1000000 10,00,000 UNILISTED I SUBRATA DE I INEAT7508126 1000000 3,00,00,000 UNILISTED I MANOI KUMAR SAMDARIA 36 INEAT7508126 1000000 3,00,00,000 UNILISTED I RAINIKANT MANILAL MEHTA I INEAT7508126 1000000 3,00,00,000 UNILISTED I SIJAH SHREYA DHARMESH I INEAT7508126 1000000 10,00,000 UNILISTED I MANOI NICHAR DANI INEAT7508126 1000000 10,00,000 UNILISTED I BHAVANA SAKHALKAR INEAT7508126 1000000 10,00,000 UNILISTED I BHAVANA SAKHALKAR INEAT7508126 1000000 10,00,000 UNILISTED I BHAVANA SON SAKHALKAR INEAT7508126 1000000 10,00,000 UNILISTED I RAINIKAN MANILA REAL GOPAL INEAT7508126 1000000 10,00,000 UNILISTED I RAINIKAN MANILA REAL INEAT75					
INLISTED MURARILAL SHARMA					
INLISTED					
INLISTED					
UNLISTED 1 JACINTA MENDONCA 1 INE477508126 1000000 10,00,000 10,00					, ,
UNLISTED 1 JACNTA MENDONCA 1 INE477508126 1000000 10,00,000 UNLISTED 1 DESAI BHARAT BHARILAL 1 INE477508126 1000000 10,00,000 UNLISTED 1 RAIADHYAKSHA ASHLESHA VINAY 1 INE477508126 1000000 10,00,000 UNLISTED 1 ARUN KUMAR WADHWA 1 INE477508126 1000000 10,00,000 UNLISTED 1 SUBRATA DE 1 INE477508126 1000000 10,00,000 UNLISTED 1 MANOJ KUMAR SAMDARIA 36 INE477508126 1000000 3,00,00,000 UNLISTED 1 MANOJ KUMAR SAMDARIA 36 INE477508126 1000000 3,00,00,000 UNLISTED 1 RAINKANT MANILAL MEHTA 1 INE477508126 1000000 10,00,000 UNLISTED 1 SHAH SHREYA DHARMESH 1 INE477508126 1000000 10,00,000 UNLISTED 1 BHAVANA SAKHALKAR 1 INE477508126 1000000 10,00,000 UNLISTED 1 BRAJAGOPAL 1 INE477508126 1000000 10,00,000 UNLISTED 1 BLAJAGOPAL 1 INE477508126 1000000 10,00,000 UNLISTED 1 BLAJAGOPAL 1 INE477508126 1000000 10,00,000 UNLISTED 1 BLAJAGOPAL 1 INE477508126 1000000 10,00,000 UNLISTED 1 BUNILSTED 1 SUNIL SINGH 2 INE477508126 1000000 10,00,000 UNLISTED 1 INA4ALAGARWAL 1 INE477508126 1000000 10,00,000 UNLISTED 1 INA4ALAGARWAL 1 INE477508126 1000000 10,00,000 UNLISTED 1 INA5HINASHU KISHOR SUTARIA 1 INE477508126 1000000 10,00,000 UNLISTED 1 INA5HINASHU KISHOR SUTARIA 1 INE477508126 1000000 10,00,000 UNLISTED 1 INA5HINASHU KISHOR SUTARIA 1 INE477508126 1000000 10,00,000 UNLISTED 1 INA5HINASHU KISHOR SUTARIA 1 INE477508126 1000000 10,00,000 UNLISTED 1 INA5HINASHU KISHOR SUTARIA 1 INE477508126 1000000 10,00,000 UNLISTED 1 SHRUTIS PATANKAR 1 INE477508126					/ /
UNLISTED 1 DESAI BHARAT BHARILAL 1 NE477508126 1000000 10,00,000	UNLISTED	I NASREEN YOUSUFALI FAZALBHOY	1 INE4//S08126	1000000	10,00,000
UNLISTED 1 DESAI BHARAT BHARILAL 1 NE477508126 1000000 10,00,000	LINI ISTED	1 IACINTA MENDONCA	1 INF477S08126	1000000	10 00 000
UNLISTED 1 ARUN KUMAR WADHWA 1 INE477508126 1000000 10,00,000					
UNLISTED I ARUN KUMAR WADHWA 1 INE477508126 1000000 10,00,000 UNLISTED I SUBRATA DE 1 INE477508126 1000000 3,60,00,000 UNLISTED I MANOI KUMAR SAMDARIA 36 INE477508126 1000000 3,60,00,000 UNLISTED I RAJNIKANT MARILAL MEHTA 1 INE477508126 1000000 10,00,000 UNLISTED I SHAH SHREYA DHARMESH 1 INE477508126 1000000 10,00,000 UNLISTED I BHAVANA SAKHALKAR 1 INE477508126 1000000 10,00,000 UNLISTED I BRAJAGOPAL 1 INE477508126 1000000 10,00,000 UNLISTED I SUNIL SINGH 2 INE477508126 1000000 10,00,000 UNLISTED I SUNIL SINGH 2 INE477508126 1000000 10,00,000 UNLISTED I JAYANT PRAMAYA 1 INE477508126 1000000 10,00,000 UNLISTED I JAYANT PRAMAYA 1 INE477508126 1000000 10,00,000 UNLISTED I JAYANT PRAMAYA 1 INE477508126 1000000 10,00,000 UNLISTED I NAVAL AGARWAL 1 INE477508126 1000000 10,00,000 UNLISTED I NAVAL AGARWAL 1 INE477508126 1000000 10,00,000 UNLISTED I NAVAL AGARWAL 1 INE477508126 1000000 10,00,000 UNLISTED I HMANSHU KISHOR SUTARIA 1 INE477508126 1000000 10,00,000 UNLISTED I PRASHANT BAJAI 2 INE477508126 1000000 10,00,000 UNLISTED I BRASHANT BAJAI 2 INE477508126 1000000 10,00,000 UNLISTED I SIRUTI S PATANKAR 1 INE477508126 1000000 10,00,000 UNLISTED I SIRUTI S PATANKAR 1 INE477508126 1000000 10,00,000 UNLISTED I SIRUTI S PATANKAR 1 INE477508126 1000000 10,00,000 UNLISTED I DHARMESH LALIKUMAR TRIVEDI I INE477508126 1000000 10,00,000 UNLISTED I JAHAN MARAMANI I INE477508126 1000000 10,00,000 UNLISTED I JAHAN MARAMANI I INE477508126 1000000 10,00,000 UNLISTED I JAHAN MIKESH KHATIJA I INE477508126 1000000 10,00,000 UNLISTED I SIRUTI S PATANKAR 1 INE477508126 1000000 10,00,000 UNLISTED I SIRUTI S PATANKAR 1 INE477508126 1000000 10,00,000 UNLISTED I SIRUTI S PATANKAR 1 INE477508126 10					
UNLISTED 1 SUBRATA DE	UNLISTED	I KAJADITI AKSITA ASTILLISITA VIIVAT	1 1112477306120	1000000	10,00,000
INLISTED	UNLISTED	1 ARUN KUMAR WADHWA	1 INE477S08126	1000000	10,00,000
INLISTED	UNLISTED	1 SUBRATA DE	1 INE477S08126	1000000	10,00,000
UNLISTED 1 SHAH SHREYA DHARMESH 1 INE477508126 1000000 10,00,000	UNLISTED	1 MANOJ KUMAR SAMDARIA	36 INE477S08126	1000000	3,60,00,000
INLISTED	UNLISTED	1 RAJNIKANT MANILAL MEHTA	1 INE477S08126	1000000	10,00,000
UNLISTED 1 BHAVANA SAKHALKAR 1 INE477S08126 1000000 10,00,000 10,0	UNLISTED	1 SHAH SHREYA DHARMESH	1 INE477S08126	1000000	10,00,000
UNLISTED 1 MANJULA RAJA GOPAL 1 INE477508126 1000000 10,00,000 10,	UNLISTED	1 MANAN DINESH DANI	1 INE477S08126	1000000	10,00,000
UNLISTED 1 B. RAJAGOPAL 1 INE477508126 1000000 10,00,000	UNLISTED	1 BHAVANA SAKHALKAR	1 INE477S08126	1000000	10,00,000
UNLISTED	UNLISTED	1 MANJULA RAJA GOPAL	1 INE477S08126	1000000	10,00,000
UNLISTED	UNLISTED	1 B. RAJAGOPAL	1 INE477S08126	1000000	10,00,000
UNLISTED	UNLISTED	1 RITHIKA RAJAGOPAL	1 INE477S08126	1000000	10,00,000
UNLISTED 1 NAVAL AGARWAL 1 INE477S08126 1000000 10,00,000 UNLISTED 1 TINA HIMANSHU SUTARIA 2 INE477S08126 1000000 20,00,000 UNLISTED 1 HIMANSHU KISHOR SUTARIA 1 INE477S08126 1000000 20,00,000 UNLISTED 1 PRASHANT BAJAJ 2 INE477S08126 1000000 20,00,000 UNLISTED 1 KIRIT NAVINCHANDRA SHAH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SHRUTI S PATANKAR 1 INE477S08126 1000000 10,00,000 UNLISTED 1 DHARMESH LALITKUMAR TRIVEDI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 HEMA DHARMESH TRIVEDI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 AVANI VISHAL DAVDA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 TARUN MOHAN MALKANI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SAHANA RAO 2 INE477S08126 1000000 20,00,000 UNLISTED 1 MURTA MUKESH KHATIJA 1 INE477S08126 1000000 20,00,000 UNLISTED 1 CHITRA MUKESH SHAH 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SIMRITI HARSH BHATINAGAR 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SAHANA RAO 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SIMRITI HARSH BHATINAGAR 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SANDHYA AMRISH PARIKH 1 INE477S08126 1000000 20,00,000 UNLISTED 1 SANDHYA AMRISH PARIKH 1 INE477S08126 1000000 20,00,000 UNLISTED 1 SANDHYA AMRISH PARIKH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SANDHYA AMRISH PARIKH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SANDHYA AMRISH PARIKH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDRA GUPTA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDRA GUPTA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMERP IYUSHBHAI BAXI 2 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMERP IYUSHBHAI BAXI 2 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMERP IYUSHBHAI BAXI 2 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMERP IYUSHBHAI BAXI 2 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMERP IYUSHB	UNLISTED	1 SUNIL SINGH	2 INE477S08126	1000000	20,00,000
UNLISTED	UNLISTED	1 JAYANT P RAMAIYA	1 INE477S08126	1000000	10,00,000
UNLISTED	UNLISTED	1 NAVAL AGARWAL	1 INE477S08126	1000000	10,00,000
UNLISTED 1 PRASHANT BAJAJ 2 INE477S08126 1000000 20,00,000 UNLISTED 1 KIRIT NAVINCHANDRA SHAH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SHRUTI S PATANKAR 1 INE477S08126 1000000 10,00,000 UNLISTED 1 DHARMESH LALITKUMAR TRIVEDI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 HEMA DHARMESH TRIVEDI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 AVANI VISHAL DAVDA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 TARUN MOHAN MALKANI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SAHANA RAO 2 INE477S08126 1000000 20,00,000 UNLISTED 1 MUKTA MUKESH KHATIJA 1 INE477S08126 1000000 20,00,000 UNLISTED 1 SIMRITI HARSH BHATNAGAR 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SIMRITI HARSH BHATNAGAR 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SIMRITI HARSH BHATNAGAR 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SANDHYA AMRISH PARIKH 1 INE477S08126 1000000 20,00,000 UNLISTED 1 SANDHYA AMRISH PARIKH 1 INE477S08126 1000000 20,00,000 UNLISTED 1 MAITREYA AMRISHBHAI PARIKH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 MAITREYA AMRISHBHAI PARIKH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 INEARA SANJEEV PAI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDRA GUPTA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDRA GUPTA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMEER PIYUSHBHAI BAXI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMEER PIYUSHBHAI BAXI 2 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMER PIYUSHBHAI BAXI 2 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMEER PIYUSHBHAI BAXI 2 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMEER PIYUSHBHAI BAXI 2 INE477S08126 1000000 10,00,000 UNLISTED 1 SAHH MITTAL TARAK 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SHAH MITTAL TARAK 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SHAH MITTAL TARAK 1 INE47S08126 1000000 10,00,000 UNLISTED	UNLISTED	1 TINA HIMANSHU SUTARIA	2 INE477S08126	1000000	20,00,000
UNLISTED 1 KIRIT NAVINCHANDRA SHAH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SHRUTI S PATANKAR 1 INE477S08126 1000000 10,00,000 UNLISTED 1 DHARMESH LALITKUMAR TRIVEDI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 HEMA DHARMESH TRIVEDI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 AVANI VISHAL DAVDA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 TARUN MOHAN MALKANI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SAHANA RAO 2 INE477S08126 1000000 20,00,000 UNLISTED 1 MUKTA MUKESH KHATIJA 1 INE477S08126 1000000 20,00,000 UNLISTED 1 CHITRA MUKESH SHAH 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SIMRITI HARSH BHATNAGAR 2 INE477S08126 1000000 20,00,000 UNLISTED 1 VISHAL JAGJIVAN DAVDA 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SANDHYA AMRISH PARIKH 1 INE477S08126 1000000 20,00,000 UNLISTED 1 SANDHYA AMRISH PARIKH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 MAITREYA AMRISHBHAI PARIKH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDRA GUPTA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDRA GUPTA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDRA GUPTA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMEER PIYUSHBHAI BAXI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMEER PIYUSHBHAI BAXI 2 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMEER PIYUSHBHAI BAXI 2 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMEER PIYUSHBHAI BAXI 2 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMEER PIYUSHBHAI BAXI 2 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMEER PIYUSHBHAI BAXI 2 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMEER PIYUSHBHAI BAXI 2 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMEER PIYUSHBHAI BAXI 2 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMEER PIYUSHBHAI BAXI 2 INE477S08126 1000000 10,00,000 UNLISTED 1 SHAH MITTAL TARAK 1 INE477S08126 1000000 10,00,00	UNLISTED	1 HIMANSHU KISHOR SUTARIA	1 INE477S08126	1000000	10,00,000
UNLISTED 1 SHRUTI S PATANKAR 1 INE477508126 1000000 10,00,000 UNLISTED 1 DHARMESH LALITKUMAR TRIVEDI 1 INE477508126 1000000 10,00,000 UNLISTED 1 HEMA DHARMESH TRIVEDI 1 INE477508126 1000000 10,00,000 UNLISTED 1 AVANI VISHAL DAVDA 1 INE477508126 1000000 10,00,000 UNLISTED 1 TARUN MOHAN MALKANI 1 INE477508126 1000000 10,00,000 UNLISTED 1 SAHANA RAO 2 INE477508126 1000000 20,00,000 UNLISTED 1 MUKTA MUKESH KHATIJA 1 INE477508126 1000000 20,00,000 UNLISTED 1 CHITRA MUKESH SHAH 2 INE477508126 1000000 20,00,000 UNLISTED 1 SIMRITI HARSH BHATNAGAR 2 INE477508126 1000000 20,00,000 UNLISTED 1 VISHAL JAGJIVAN DAVDA 2 INE477508126 1000000 20,00,000 UNLISTED 1 SANDHYA AMRISH PARIKH 1 INE477508126 1000000 20,00,000 UNLISTED 1 MAITREYA AMRISHBHAI PARIKH 1 INE477508126 1000000 10,00,000 UNLISTED 1 MAITREYA AMRISHBHAI PARIKH 1 INE477508126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDAR GUPTA 1 INE477508126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDAR GUPTA 1 INE477508126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDAR GUPTA 1 INE477508126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDAR GUPTA 1 INE477508126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDAR GUPTA 1 INE477508126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDAR GUPTA 1 INE477508126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDAR GUPTA 1 INE477508126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDAR GUPTA 1 INE477508126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDAR GUPTA 1 INE477508126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDAR GUPTA 1 INE477508126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDAR GUPTA 1 INE477508126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDAR GUPTA 1 INE477508126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDAR GUPTA 1 INE477508126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDAR GUPTA 1 INE477508126 1000000 10,00,000	UNLISTED	1 PRASHANT BAJAJ	2 INE477S08126	1000000	20,00,000
UNLISTED 1 DHARMESH LALITKUMAR TRIVEDI 1 INE477508126 1000000 10,00,000	UNLISTED	1 KIRIT NAVINCHANDRA SHAH	1 INE477S08126	1000000	10,00,000
UNLISTED 1 HEMA DHARMESH TRIVEDI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 AVANI VISHAL DAVDA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 TARUN MOHAN MALKANI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SAHANA RAO 2 INE477S08126 1000000 20,00,000 UNLISTED 1 MUKTA MUKESH KHATIJA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 CHITRA MUKESH SHAH 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SIMRITI HARSH BHATNAGAR 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SIMRITI HARSH BHATNAGAR 2 INE477S08126 1000000 20,00,000 UNLISTED 1 VISHAL JAGJIVAN DAVDA 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SANDHYA AMRISH PARIKH 1 INE477S08126 1000000 20,00,000 UNLISTED 1 MAITREYA AMRISHBHAI PARIKH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 MAITREYA AMRISHBHAI PARIKH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 NIKAM BHARATI RAMAKANT 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDRA GUPTA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDRA GUPTA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDRA GUPTA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMEER PIYUSHBHAI BAXI 1 INE477S08126 1000000 20,00,000 UNLISTED 1 SAMEER PIYUSHBHAI BAXI 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SAMEER PIYUSHBHAI BAXI 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SAMEER PIYUSHBHAI BAXI 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SVEN JOHN SALDANHA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SHAH MITTAL TARAK 1 INE477S08126 1000000 10,00,000	UNLISTED	1 SHRUTI S PATANKAR	1 INE477S08126	1000000	10,00,000
UNLISTED 1 AVANI VISHAL DAVDA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 TARUN MOHAN MALKANI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SAHANA RAO 2 INE477S08126 1000000 20,00,000 UNLISTED 1 MUKTA MUKESH KHATIJA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 CHITRA MUKESH SHAH 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SIMRITI HARSH BHATNAGAR 2 INE477S08126 1000000 20,00,000 UNLISTED 1 VISHAL JAGJIVAN DAVDA 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SANDHYA AMRISH PARIKH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 MAITREYA AMRISHBHAI PARIKH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 AMEETA SANJEEV PAI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 NIKAM BHARATI RAMAKANT 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDRA GUPTA 1 INE477S08126 1000000 10,00,000 <t< td=""><td>UNLISTED</td><td>1 DHARMESH LALITKUMAR TRIVEDI</td><td>1 INE477S08126</td><td>1000000</td><td>10,00,000</td></t<>	UNLISTED	1 DHARMESH LALITKUMAR TRIVEDI	1 INE477S08126	1000000	10,00,000
UNLISTED 1 AVANI VISHAL DAVDA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 TARUN MOHAN MALKANI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SAHANA RAO 2 INE477S08126 1000000 20,00,000 UNLISTED 1 MUKTA MUKESH KHATIJA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 CHITRA MUKESH SHAH 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SIMRITI HARSH BHATNAGAR 2 INE477S08126 1000000 20,00,000 UNLISTED 1 VISHAL JAGJIVAN DAVDA 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SANDHYA AMRISH PARIKH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 MAITREYA AMRISHBHAI PARIKH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 AMEETA SANJEEV PAI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 NIKAM BHARATI RAMAKANT 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDRA GUPTA 1 INE477S08126 1000000 10,00,000 <t< td=""><td>LIMI ICTED</td><td>1 HEMA DHADMESH TRIVEDI</td><td>1 DIE 477000126</td><td>1000000</td><td>10.00.000</td></t<>	LIMI ICTED	1 HEMA DHADMESH TRIVEDI	1 DIE 477000126	1000000	10.00.000
UNLISTED 1 TARUN MOHAN MALKANI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SAHANA RAO 2 INE477S08126 1000000 20,00,000 UNLISTED 1 MUKTA MUKESH KHATIJA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 CHITRA MUKESH SHAH 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SIMRITI HARSH BHATNAGAR 2 INE477S08126 1000000 20,00,000 UNLISTED 1 VISHAL JAGJIVAN DAVDA 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SANDHYA AMRISH PARIKH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 MAITREYA AMRISHBHAI PARIKH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 AMEETA SANJEEV PAI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 NIKAM BHARATI RAMAKANT 1 INE477S08126 1000000 10,00,000					
UNLISTED 1 SAHANA RAO 2 INE477S08126 1000000 20,00,000 UNLISTED 1 MUKTA MUKESH KHATIJA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 CHITRA MUKESH SHAH 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SIMRITI HARSH BHATNAGAR 2 INE477S08126 1000000 20,00,000 UNLISTED 1 VISHAL JAGJIVAN DAVDA 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SANDHYA AMRISH PARIKH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 MAITREYA AMRISHBHAI PARIKH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 AMEETA SANJEEV PAI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 NIKAM BHARATI RAMAKANT 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDRA GUPTA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 KUSUM RAMESH SAGLANI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMEER PIYUSHBHAI BAXI 2 INE477S08126 1000000 10,00,000					
UNLISTED 1 MUKTA MUKESH KHATIJA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 CHITRA MUKESH SHAH 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SIMRITI HARSH BHATNAGAR 2 INE477S08126 1000000 20,00,000 UNLISTED 1 VISHAL JAGJIVAN DAVDA 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SANDHYA AMRISH PARIKH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 MAITREYA AMRISHBHAI PARIKH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 AMEETA SANJEEV PAI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 NIKAM BHARATI RAMAKANT 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDRA GUPTA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 KUSUM RAMESH SAGLANI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMEER PIYUSHBHAI BAXI 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SHAH MITTAL TARAK 1 INE477S08126 1000000 10,00,000 <td></td> <td></td> <td></td> <td></td> <td></td>					
UNLISTED 1 CHITRA MUKESH SHAH 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SIMRITI HARSH BHATNAGAR 2 INE477S08126 1000000 20,00,000 UNLISTED 1 VISHAL JAGJIVAN DAVDA 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SANDHYA AMRISH PARIKH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 MAITREYA AMRISHBHAI PARIKH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 AMEETA SANJEEV PAI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 NIKAM BHARATI RAMAKANT 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDRA GUPTA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 KUSUM RAMESH SAGLANI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMEER PIYUSHBHAI BAXI 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SVEN JOHN SALDANHA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SHAH MITTAL TARAK 1 INE477S08126 10000000 10,00,000					
UNLISTED 1 SIMRITI HARSH BHATNAGAR 2 INE477S08126 1000000 20,00,000 UNLISTED 1 VISHAL JAGJIVAN DAVDA 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SANDHYA AMRISH PARIKH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 MAITREYA AMRISHBHAI PARIKH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 AMEETA SANJEEV PAI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 NIKAM BHARATI RAMAKANT 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDRA GUPTA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 KUSUM RAMESH SAGLANI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMEER PIYUSHBHAI BAXI 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SVEN JOHN SALDANHA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SHAH MITTAL TARAK 1 INE477S08126 1000000 10,00,000					
UNLISTED 1 VISHAL JAGJIVAN DAVDA 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SANDHYA AMRISH PARIKH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 MAITREYA AMRISHBHAI PARIKH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 AMEETA SANJEEV PAI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 NIKAM BHARATI RAMAKANT 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDRA GUPTA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 KUSUM RAMESH SAGLANI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMEER PIYUSHBHAI BAXI 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SVEN JOHN SALDANHA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SHAH MITTAL TARAK 1 INE477S08126 1000000 10,00,000					
UNLISTED 1 SANDHYA AMRISH PARIKH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 MAITREYA AMRISHBHAI PARIKH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 AMEETA SANJEEV PAI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 NIKAM BHARATI RAMAKANT 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDRA GUPTA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 KUSUM RAMESH SAGLANI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMEER PIYUSHBHAI BAXI 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SVEN JOHN SALDANHA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SHAH MITTAL TARAK 1 INE477S08126 1000000 10,00,000					
UNLISTED 1 MAITREYA AMRISHBHAI PARIKH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 AMEETA SANJEEV PAI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 NIKAM BHARATI RAMAKANT 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDRA GUPTA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 KUSUM RAMESH SAGLANI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMEER PIYUSHBHAI BAXI 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SVEN JOHN SALDANHA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SHAH MITTAL TARAK 1 INE477S08126 1000000 10,00,000					
UNLISTED 1 AMEETA SANJEEV PAI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 NIKAM BHARATI RAMAKANT 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDRA GUPTA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 KUSUM RAMESH SAGLANI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMEER PIYUSHBHAI BAXI 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SVEN JOHN SALDANHA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SHAH MITTAL TARAK 1 INE477S08126 1000000 10,00,000					
UNLISTED 1 NIKAM BHARATI RAMAKANT 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBHASH CHANDRA GUPTA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 KUSUM RAMESH SAGLANI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMEER PIYUSHBHAI BAXI 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SVEN JOHN SALDANHA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SHAH MITTAL TARAK 1 INE477S08126 1000000 10,00,000	ONLIGIED	I WALLETA AWRISHDHAI PARIKH	1 IINE4//300120	1000000	10,00,000
UNLISTED 1 SUBHASH CHANDRA GUPTA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 KUSUM RAMESH SAGLANI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMEER PIYUSHBHAI BAXI 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SVEN JOHN SALDANHA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SHAH MITTAL TARAK 1 INE477S08126 1000000 10,00,000	UNLISTED	1 AMEETA SANJEEV PAI	1 INE477S08126	1000000	10,00,000
UNLISTED 1 SUBHASH CHANDRA GUPTA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 KUSUM RAMESH SAGLANI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMEER PIYUSHBHAI BAXI 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SVEN JOHN SALDANHA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SHAH MITTAL TARAK 1 INE477S08126 1000000 10,00,000	UNLISTED	1 NIKAM BHARATI RAMAKANT	1 INE477S08126	1000000	10,00,000
UNLISTED 1 KUSUM RAMESH SAGLANI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SAMEER PIYUSHBHAI BAXI 2 INE477S08126 1000000 20,00,000 UNLISTED 1 SVEN JOHN SALDANHA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SHAH MITTAL TARAK 1 INE477S08126 1000000 10,00,000	UNLISTED	1 SUBHASH CHANDRA GUPTA	1 INE477S08126	1000000	10,00,000
UNLISTED 1 SVEN JOHN SALDANHA 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SHAH MITTAL TARAK 1 INE477S08126 1000000 10,00,000	UNLISTED	1 KUSUM RAMESH SAGLANI	1 INE477S08126	1000000	10,00,000
UNLISTED 1 SHAH MITTAL TARAK 1 INE477S08126 1000000 10,00,000	UNLISTED	1 SAMEER PIYUSHBHAI BAXI	2 INE477S08126	1000000	20,00,000
	UNLISTED				
	UNLISTED	1 SHAH MITTAL TARAK	1 INE477S08126	1000000	10,00,000
		1 ROHIT BHOGILAL PATEL		1000000	10,00,000

UNLISTED	1 HEMLATA ROHITKUMAR PATEL	1 INE477S08126	1000000	10,00,000
UNLISTED	1 SHREEMAY ROHIT PATEL	1 INE477S08126	1000000	10,00,000
UNLISTED	1 KAMINI HIREN AMIN	1 INE477S08126	1000000	10,00,000
UNLISTED	1 NANDOOBHAI RAMBHAI AMIN	2 INE477S08126	1000000	20,00,000
UNLISTED	1 NANIBEN BHOGILAL PATEL	1 INE477S08126	1000000	10,00,000
UNLISTED	1 SHRINIWAS VIJAY DIXIT	1 INE477S08126	1000000	10,00,000
UNLISTED UNLISTED	1 NOSHIR ARDESHIR SHROFF 1 GURAZ H WANKADIA	2 INE477S08126 1 INE477S08126	1000000	20,00,000
UNLISTED	1 MUKESH PARSRAM KHATIJA	3 INE477S08126	1000000	30,00,000
UNLISTED	1 RAJA KRISHNAMOORTHY	2 INE477S08126	1000000	20,00,000
UNLISTED	1 INDIRA NAGARAJAN	1 INE477S08126	1000000	10,00,000
UNLISTED	1 BHALCHANDRA GOKHALE	1 INE477S08126	1000000	10,00,000
UNLISTED	1 RAMESH UGGU SHETTY	1 INE477S08126	1000000	10,00,000
UNLISTED	1 DIANA KAVARRANA	2 INE477S08126	1000000	20,00,000
UNLISTED	1 KASTURI MUKHERJEE	1 INE477S08126	1000000	10,00,000
UNLISTED	1 BHAVNA RAMESH DEVNANI	1 INE477S08126	1000000	10,00,000
UNLISTED UNLISTED	1 SUMAN AGRAWAL 1 RATNESH KUMAR AGRAWAL	1 INE477S08126 1 INE477S08126	1000000	10,00,000
UNLISTED	1 VISPY KEKI DALAL	2 INE477S08126	1000000	20,00,000
UNLISTED	1 LUKE DE NORONHA	1 INE477S08126	1000000	10,00,000
UNLISTED	1 MEGHA VIJAY DEO	1 INE477S08126	1000000	10,00,000
UNLISTED	1 PAVAMAN YELANDUR	3 INE477S08126	1000000	30,00,000
UNLISTED	1 INDIRA HARSHAD MEHTA	1 INE477S08126	1000000	10,00,000
UNLISTED	1 MANI MINOCHER MISTRI	1 INE477S08126	1000000	10,00,000
UNLISTED	1 KAPILA MANIKANTAN	1 INE477S08126	1000000	10,00,000
UNLISTED	1 GITA BHARAT KOTHARI	1 INE477S08126	1000000	10,00,000
UNLISTED	1 SAVITA VIJAY GOKHALE	1 INE477S08126 1 INE477S08126	1000000	10,00,000
UNLISTED UNLISTED	1 DIVYA GUPTA 1 ROHIT KHARE	1 INE477S08126	1000000	10,00,000
UNLISTED	1 ANINI REEJHSINGHANI	1 INE477S08126	1000000	10,00,000
UNLISTED	1 SUDHA JAGJIVAN DAVDA	1 INE477S08126	1000000	10,00,000
UNLISTED	1 PATEL RACHANA NILAY	1 INE477S08126	1000000	10,00,000
UNLISTED	1 ARUNA RAHUL SHAH	5 INE477S08126	1000000	50,00,000
UNLISTED	1 JUGGAL DEEPAK KAPADIA	1 INE477S08126	1000000	10,00,000
UNLISTED	1 NIMISH SUBHASH SHAH	1 INE477S08126	1000000	10,00,000
UNLISTED	1 KAGALWALA SHUCHI RAJUBHAI	1 INE477S08126	1000000	10,00,000
UNLISTED	1 BHARATKUMAR D VASHI	1 INE477S08126	1000000	10,00,000
UNLISTED	1 SUKSHAM KAPUR	1 INE477S08126	1000000	10,00,000
UNLISTED UNLISTED	1 ISMITA BRAHMWAR 1 YAMINI SAIRAMAN MUDALIAR	2 INE477S08126 1 INE477S08126	1000000	20,00,000
UNLISTED	1 SHIKHA CHORDIA	2 INE477S08126	1000000	20,00,000
UNLISTED	1 PREMILA BHARATKUMAR SHAH	1 INE477S08126	1000000	10,00,000
UNLISTED	1 VARSHA JAYPRAKASH MEHTA	1 INE477S08126	1000000	10,00,000
UNLISTED	1 HEMAPRIYA HARIDOSS	1 INE477S08126	1000000	10,00,000
UNLISTED	1 DARSHNA DHARMENDRA PANDYA	1 INE477S08126	1000000	10,00,000
Thu Idaep	1 WIDTHWING DAY DAY DAY ON A W	1 DE 4777000126	1000000	10.00.000
UNLISTED	1 KIRTIKUMAR MAYABHAI SHAH	1 INE477S08126 1 INE477S08126	1000000	10,00,000
UNLISTED UNLISTED	1 VIKAS KATARIA 1 MAMTABEN JYOTINDRA BAXI	1 INE477S08126	1000000	10,00,000
UNLISTED	1 NAMRATA VIREN SHAH	1 INE477S08126	1000000	10,00,000
UNLISTED	1 BAXI RAJAL ASHISH	1 INE477S08126	1000000	10,00,000
UNLISTED	1 K MANJUNATH	1 INE477S08126	1000000	10,00,000
UNLISTED	1 INDU MISHRA	1 INE477S08126	1000000	10,00,000
UNLISTED	1 YOGITA VIVEK GOEL	1 INE477S08126	1000000	10,00,000
UNLISTED	1 BELABEN VIPULKUMAR SHAH	1 INE477S08126	1000000	10,00,000
UNLISTED	1 JYOTI GAURANG BHATT	1 INE477S08126	1000000	10,00,000
UNLISTED UNLISTED	1 GAURANG KIRTIKANT BHATT 1 GOLANI MEERA KISHORE	1 INE477S08126 1 INE477S08126	1000000	10,00,000
UNLISTED	1 ASHOK PREMJI GANATRA	1 INE477S08126	1000000	10,00,000
UNLISTED	1 SONAL SUBHASH SHAH	2 INE477S08126	1000000	20,00,000
UNLISTED	1 CHHAYABEN RANJITKUMAR DESAI	1 INE477S08126	1000000	10,00,000
UNLISTED	1 VINODCHANDRA HIRALAL PARIKH	1 INE477S08126	1000000	10,00,000
UNLISTED	1 KAVYA DHRUMIL JOSHI	1 INE477S08126	1000000	10,00,000
UNLISTED	1 JAYSHREE Y PARIKH	1 INE477S08126	1000000	10,00,000
UNLISTED	1 MARKAND HARISHANKER SHARMA	1 INE477S08126	1000000	10,00,000
, I				

UNLISTED	1 ASHA M DESAI	3 INE477S08126	1000000	30,00,000
UNLISTED	1 BIJAY KUMAR RAY	1 INE477S08126	1000000	10,00,000
UNLISTED	1 SARITA UDAYA SARNOBAT	1 INE477S08126	1000000	10,00,000
UNLISTED	1 ABHA MULLICK	1 INE477S08126	1000000	10,00,000
UNLISTED	1 Padamkumar Thakarshi Poladia	1 INE477S08126	1000000	10,00,000
UNLISTED	1 Janak Singh Bajwa	1 INE477S08126	1000000	10,00,000
UNLISTED	1 RAJKUMAR RASTOGI	1 INE477S08126	1000000	10,00,000
UNLISTED	1 ROHINI AMIT JOSHI	1 INE477S08126	1000000	10,00,000
UNLISTED	1 SANJEEV DIGAMBER WALAVALKAR	1 INE477S08126	1000000	10,00,000
CT (ZISTZS		111.2177500120	1000000	10,00,000
UNLISTED	1 MANISHA RAMESH RUPANI	1 INE477S08126	1000000	10,00,000
	1 NILAM SAMIRKUMAR SHAH	2 INE477S08126		
UNLISTED			1000000	20,00,000
UNLISTED	1 HITESH RAMANLAL DANAK	1 INE477S08126	1000000	10,00,000
UNLISTED	1 MAHENDRA NATH BAJPAI	4 INE477S08126	1000000	40,00,000
UNLISTED	1 RITIKA JAYESH SHAH	10 INE477S08126	1000000	1,00,00,000
UNLISTED	1 SOURABH S SIL	1 INE477S08126	1000000	10,00,000
UNLISTED	1 MANJULA FOTEDAR	1 INE477S08126	1000000	10,00,000
UNLISTED	1 VIJAY RAMKRISHNA DEO	1 INE477S08126	1000000	10,00,000
UNLISTED	1 INDU PANDE	1 INE477S08126	1000000	10,00,000
UNLISTED	1 SONAL VIVEK ALAT	1 INE477S08126	1000000	10,00,000
UNLISTED	1 SURYAKANT MATHURDAS MADLANI	1 INE477S08126	1000000	10,00,000
				20,00,000
UNLISTED	1 SUMAN SURYAKANT MADLANI	1 INE477S08126	1000000	10,00,000
UNLISTED	1 PRAVEEN KUMAR GARG	1 INE477S08126	1000000	10,00,000
				- , - ,
UNLISTED	1 RAJESH MITTAL	1 INE477S08126	1000000	10,00,000
UNLISTED	1 HEMLAL BADHO MODI	1 INE477S08126	1000000	10,00,000
UNLISTED	1 BHAVNA GAUTAM CHAINANI	3 INE477S08126	1000000	30,00,000
UNLISTED	1 ASMITA ASHOK ALATE	1 INE477S08126	1000000	10,00,000
UNLISTED	1 RASHMI PRADEEP PHANSE	2 INE477S08126	1000000	20,00,000
UNLISTED	1 ZARNI PATEL THOMAS	1 INE477S08126	1000000	10,00,000
UNLISTED	1 SUMAN SITARAM KINI	1 INE477S08126	1000000	10,00,000
UNLISTED	1 SUHAS VINAYAK DESHPANDE	1 INE477S08126	1000000	10,00,000
UNLISTED	1 HOMYAR RUSTOMJI DESAI	1 INE477S08126	1000000	10,00,000
UNLISTED	1 ARTI R GADRE	1 INE477S08126	1000000	10,00,000
UNLISTED	1 DHRUV JATIN SHAH	2 INE477S08126	1000000	20,00,000
UNLISTED	1 NISHANT RAJESH DOSHI	3 INE477S08126	1000000	30,00,000
UNLISTED	1 SULEKHA RAJESH DOSHI	2 INE477S08126	1000000	20,00,000
UNLISTED	1 VIDYA SANJAY GUNAVANTHE	1 INE477S08126	1000000	
				10,00,000
UNLISTED	1 RINA SUBRATO DAS	1 INE477S08126	1000000	10,00,000
UNLISTED	1 RASILA SARVAIYA	1 INE477S08126	1000000	10,00,000
UNLISTED	1 RASHMI ISHWAR PRATAP	2 INE477S08126	1000000	20,00,000
UNLISTED	1 JANAKI SADAGOPAN	1 INE477S08126	1000000	10,00,000
UNLISTED	1 RASHMI GUPTA	1 INE477S08126	1000000	10,00,000
UNLISTED	1 SHREEGOPAL JUGALKISHORE	12 INE477S08126	1000000	1,20,00,000
	BARASIA			
UNLISTED	1 INDRABEN P JAIN	1 INE477S08126	1000000	10,00,000
UNLISTED	1 PRAKASH MOTILAL DOSHI	1 INE477S08126	1000000	10,00,000
UNLISTED	1 PURNA PRAKASH DOSHI	1 INE477S08126	1000000	10,00,000
UNLISTED	1 RAJAT GUPTA	1 INE477S08126	1000000	10,00,000
UNLISTED	1 ANITA JAGGIE KALYANI	1 INE477S08126	1000000	10,00,000
	1 JAYDEO SHANTILAL CHOKHAWALA			
UNLISTED	I JA I DEO SHANTILAL CHUKHAWALA	1 INE477S08126	1000000	10,00,000
LIMIT TOTAL	1 CHILAYA MUZUEDUEE	1 DVE 477000104	1000000	10.00.000
UNLISTED	1 CHHAYA MUKHERJEE	1 INE477S08126	1000000	10,00,000
UNLISTED	1 AJANTA CHATTERJEE	1 INE477S08126	1000000	10,00,000
UNLISTED	1 MADHU DALAL	2 INE477S08126	1000000	20,00,000
UNLISTED	1 SUSHIL KANUBHAI SHAH	2 INE477S08126	1000000	20,00,000
UNLISTED	1 DURU SUSHIL SHAH	2 INE477S08126	1000000	20,00,000
UNLISTED	1 SUNITA INDER KHILNANY	1 INE477S08126	1000000	10,00,000
UNLISTED	1 DARA KEKI BHARUCHA	3 INE477S08126	1000000	30,00,000
UNLISTED	1 VIREN SUCHET MATHUR	1 INE477S08126	1000000	10,00,000
UNLISTED	1 MADHUBALA MATHUR	1 INE477S08126	1000000	10,00,000
UNLISTED	1 NILESH NATVERLAL BASTAWALA	1 INE477S08126	1000000	10,00,000
				,,
UNLISTED	1 NISHA KALIKAPRASAD BHATT	1 INE477S08126	1000000	10,00,000
UNLISTED	1 SUNIL NATVERLAL BASTAWALA	1 INE477S08126	1000000	10,00,000
UNLISTED	1 RAJESH SHANTILAL BHOOLA	2 INE477S08126	1000000	20,00,000
UNLISTED	1 SAPNAKUMARI HARDIK PATEL	1 INE477S08126	1000000	10,00,000
UNLISTED	1 BHARATI RAJENDRA SHAH	1 INE477S08126	1000000	10,00,000
UNLISTED	1 REKHA BHUPENDRA FAFADIA	1 INE477S08126	1000000	10,00,000

UNLISTED 1 RAJARAM RANGANATHAN MOSUR . 1 INE477 UNLISTED 1 NEHA AGARWAL 1 INE477 UNLISTED 1 SANTOSHDEVI L SOBHASARIA . 1 INE477 UNLISTED 1 OM PRAKASH JETLI . 1 INE477 UNLISTED 1 KAVITA KULDIP KAMAT 3 INE477 UNLISTED 1 MANILAL JIVRAJ CHHEDA 1 INE477 UNLISTED 1 KAMINI MAHESH SHAH 1 INE477 UNLISTED 1 ARATHI JAYARAM SHETTY 1 INE477	7S08126 1000000	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 30,00,000 10,00,000 10,00,000 10,00,000
UNLISTED 1 RAJARAM RANGANATHAN MOSUR . 1 INE477 UNLISTED 1 NEHA AGARWAL 1 INE477 UNLISTED 1 SANTOSHDEVI L SOBHASARIA . 1 INE477 UNLISTED 1 OM PRAKASH JETLI . 1 INE477 UNLISTED 1 KAVITA KULDIP KAMAT 3 INE477 UNLISTED 1 MANILAL JIVRAJ CHHEDA 1 INE477 UNLISTED 1 KAMINI MAHESH SHAH 1 INE477 UNLISTED 1 ARATHI JAYARAM SHETTY 1 INE477	S08126	10,00,000 10,00,000 10,00,000 10,00,000 30,00,000 10,00,000 10,00,000 10,00,000
UNLISTED 1 NEHA AGARWAL 1 INE477 UNLISTED 1 SANTOSHDEVI L SOBHASARIA 1 INE477 UNLISTED 1 OM PRAKASH JETLI 1 INE477 UNLISTED 1 KAVITA KULDIP KAMAT 3 INE477 UNLISTED 1 MANILAL JIVRAJ CHHEDA 1 INE477 UNLISTED 1 KAMINI MAHESH SHAH 1 INE477 UNLISTED 1 ARATHI JAYARAM SHETTY 1 INE477	\(^{1000000}\) \(^{1000000}\) \(^{1000000}\) \(^{1000000}\) \(^{1000000}\) \(^{1000000}\) \(^{1000000}\) \(^{1000000}\) \(^{1000000}\) \(^{1000000}\) \(^{1000000}\) \(^{1000000}\) \(^{1000000000000000000000000000000000000	10,00,000 10,00,000 10,00,000 30,00,000 10,00,000 10,00,000 10,00,000
UNLISTED 1 SANTOSHDEVI L SOBHASARIA . 1 INE477 UNLISTED 1 OM PRAKASH JETLI . 1 INE477 UNLISTED 1 KAVITA KULDIP KAMAT 3 INE477 UNLISTED 1 MANILAL JIVRAJ CHHEDA 1 INE477 UNLISTED 1 KAMINI MAHESH SHAH 1 INE477 UNLISTED 1 ARATHI JAYARAM SHETTY 1 INE477	ISO8126 1000000 ISO8126 1000000	10,00,000 10,00,000 30,00,000 10,00,000 10,00,000 10,00,000
UNLISTED 1 SANTOSHDEVI L SOBHASARIA . 1 INE477 UNLISTED 1 OM PRAKASH JETLI . 1 INE477 UNLISTED 1 KAVITA KULDIP KAMAT 3 INE477 UNLISTED 1 MANILAL JIVRAJ CHHEDA 1 INE477 UNLISTED 1 KAMINI MAHESH SHAH 1 INE477 UNLISTED 1 ARATHI JAYARAM SHETTY 1 INE477	ISO8126 1000000 ISO8126 1000000	10,00,000 10,00,000 30,00,000 10,00,000 10,00,000 10,00,000
UNLISTED 1 KAVITA KULDIP KAMAT 3 INE477 UNLISTED 1 MANILAL JIVRAJ CHHEDA 1 INE477 UNLISTED 1 KAMINI MAHESH SHAH 1 INE477 UNLISTED 1 ARATHI JAYARAM SHETTY 1 INE477	7S08126 1000000	30,00,000 10,00,000 10,00,000 10,00,000
UNLISTED 1 MANILAL JIVRAJ CHHEDA 1 INE477 UNLISTED 1 KAMINI MAHESH SHAH 1 INE477 UNLISTED 1 ARATHI JAYARAM SHETTY 1 INE477	1000000 1000000	10,00,000 10,00,000 10,00,000
UNLISTED 1 KAMINI MAHESH SHAH 1 INE477 UNLISTED 1 ARATHI JAYARAM SHETTY 1 INE477	7S08126 1000000 7S08126 1000000 7S08126 1000000 7S08126 1000000 7S08126 1000000 7S08126 1000000	10,00,000 10,00,000
UNLISTED 1 ARATHI JAYARAM SHETTY 1 INE477	\(^{8}08126 \) \(^{1}000000 \) \(^{8}08126 \) \(^{1}000000 \) \(^{8}08126 \) \(^{1}000000 \) \(^{8}08126 \) \(^{1}000000 \) \(^{8}08126 \) \(^{1}000000 \)	10,00,000
	\(^2\S08126 \) \(1000000 \) \(^2\S08126 \) \(1000000 \) \(^2\S08126 \) \(1000000 \)	
*D.W. *COMPDD	7S08126 1000000 7S08126 1000000	40.00.000
	7S08126 1000000	20,00,000
		10,00,000
	'S08126 1000000	10,00,000
		10,00,000
	7S08126 1000000	10,00,000
	7S08126 1000000	10,00,000
	7S08126 1000000	10,00,000
	7S08126 1000000 7S08126 1000000	10,00,000 10,00,000
	7S08126 1000000 7S08126 1000000	10,00,000
	7S08126 1000000	10,00,000
UNLISTED 1 SAHIL NARANG 1 INE477		10,00,000
UNLISTED 1 HARI NATH HANDA 1 INE477		10,00,000
	7S08126 1000000	10,00,000
	7S08126 1000000	20,00,000
	7S08126 1000000	10,00,000
UNLISTED 1 NAVNEET RAI ARORA 1 INE477	7S08126 1000000	10,00,000
UNLISTED 1 TARUN ARORA 1 INE477	7S08126 1000000	10,00,000
UNLISTED 1 VIDHI GIRISH LALWANI . 1 INE477	7S08126 1000000	10,00,000
UNLISTED 1 P P PADMA 1 INE477	7S08126 1000000	10,00,000
UNLISTED 1 ASHA MITTAL 2 INE477	7S08126 1000000	20,00,000
UNLISTED 1 DEEPAK BABULAL KARWA 1 INE477	7S08126 1000000	10,00,000
	7S08126 1000000	10,00,000
	7S08126 1000000	40,00,000
	7S08126 1000000	10,00,000
	7S08126 1000000	10,00,000
	7S08126 1000000 7S08126 1000000	10,00,000
	7S08126 1000000 7S08126 1000000	10,00,000
	7S08126 1000000	10,00,000
UNLISTED 1 JINESH ANANTRAI TURAKHIA 2 INE477		
UNLISTED 1 SAMIR ANANTRAI SHAH 1 INE477		10,00,000
	7S08126 1000000	10,00,000
UNLISTED 1 SHAILESH ASHOK KALE 1 INE477		10,00,000
UNLISTED 1 SHWETA SHYAM CHHAWCHHARIA 1 INE477	7S08126 1000000	10,00,000
UNLISTED 1 SAGAR SHAILESH SHAH 1 INE477	7S08126 1000000	10,00,000
UNLISTED 1 NIPUNA SHAILESH SHAH 1 INE477		10,00,000
UNLISTED 1 ANANTRAI BHOGILAL SHAH 1 INE477		10,00,000
	7S08126 1000000	10,00,000
UNLISTED 1 JYOTI ANANTRAI TURAKHIA 2 INE477		20,00,000
UNLISTED 1 CHANDRIKABEN A TRIVEDI 1 INE477 UNLISTED 1 Yatin Thakorlal Shah 5 INE477		10,00,000 50,00,000
UNLISTED 1 PANNA YATIN SHAH 5 INE477		50,00,000
	7S08126 1000000	10,00,000
	7S08126 1000000	10,00,000
	7S08126 1000000	20,00,000
	7S08126 1000000	10,00,000
	7S08126 1000000	10,00,000
UNLISTED 1 JINESH DHANSUKHLAL SHAH 1 INE477		10,00,000
UNLISTED 1 VIJAY NARAYANDAS BHATIA 1 INE477	7S08126 1000000	10,00,000
UNLISTED 1 AVANTIKA KARTHIK . 1 INE477	7S08126 1000000	10,00,000
	7S08126 1000000	10,00,000
UNLISTED 1 NITA RAJENDRA PAREKH 1 INE477	7S08126 1000000	10,00,000

UNLISTED I MAKANUR ASHWATINARAYANGUPTA UNLISTED I VASUGI UNLISTED I VASUGI UNLISTED I VASUGI I INEAT7508126 I JOYOTI DINESHCHANDRA SHAH I INEAT7508126 I 1000000 I 0.00.000 I 0.00.000 UNLISTED I KANCHAN KAKKAR I INEAT7508126 I 1000000 I 0.00.000 I 0.00.000					
ASSIWATINARAYANGUPTA	UNLISTED	1 SIDDHI DEVAL SHAH	1 INE477S08126	1000000	10,00,000
INLISTED 1 VASIGI. 1 OPERATORIS 1 OPERATORI	UNLISTED	1 MAKANUR	1 INE477S08126	1000000	10,00,000
INLISTED 1 VASIGI. 1 OPERATORIS 1 OPERATORI		ASHWATHNARAYANGUPTA			
UNLISTED I NOTT DINESHCHANDRA SHAH I NE477508126 1000000 10,00,000	UNI ISTED		1 INF477\$08126	1000000	10 00 000
INLISTED I RANCHAN KARKAR I DE477508126 1000000 10,00,000					, , , , , , , , , , , , , , , , , , ,
UNLISTED INRANJAN RAMILAL SARAIYA					
INBLISTED					
INLESTED INPUT INFORMATION INCOME INCO	UNLISTED	1 NIRANJAN RAMLAL SARAIYA		1000000	30,00,000
INLESTED INHUL AIT HAVER	UNLISTED	1 KALPESHKUMAR KANUBHAI SHAH	1 INE477S08126	1000000	10,00,000
INLESTED INHUL AIT HAVER					
INLESTED INHUL AIT HAVER	LINI ISTED	1 VIIAV HASMIKHI AL PARPANI	1 INE/77\$08126	1000000	10 00 000
UNLISTED IMANORAMABEN BHARATKUMAR 1 INE477508126 1000000 10,00,000					
PATEL					
UNLISTED LOUELLA CEDRIC BAPTISTA INFAT7S08126 1000000 10,00,000 UNLISTED LOUELLA CEDRIC BAPTISTA INFAT7S08126 1000000 10,00,000 UNLISTED SUMAN ARVIND CHHAWCHHARIA INFAT7S08126 1000000 10,00,000 UNLISTED SUMAN ARVIND CHHAWCHHARIA INFAT7S08126 1000000 10,00,000 UNLISTED BHUMIKA TEJAS SHAH INFAT7S08126 1000000 10,00,000 UNLISTED IDHAMIKA TEJAS SHAH INFAT7S08126 1000000 10,00,000 UNLISTED IPHAWCHHARIA INFAT7S08126 1000000 10,00,000 UNLISTED IPHAWA DATTATRAY PATIL INFAT7S08126 1000000 10,00,000 UNLISTED IPHAWA DATTATRAY PATIL INFAT7S08126 1000000 10,00,000 UNLISTED IPHAWA DATTATRAY PATIL INFAT7S08126 1000000 10,00,000 UNLISTED JINSETA MALAY SHAH INFAT7S08126 1000000 10,00,000 UNLISTED SHEKHAR SATISH GAITONDE INFAT7S08126 1000000 10,00,000 UNLISTED SHEKHAR SATISH GAITONDE INFAT7S08126 1000000 10,00,000 UNLISTED IPHAWA DEVISITED INFATA MALAY SHAH INFAT7S08126 1000000 10,00,000 UNLISTED ISHAM BERNINAL INFAT7S08126 1000000 10,00,000 UNLISTED INFATA MEHTA INFAT7S08126 1000000 10,00,000 UNLIS	UNLISTED	1 MANORAMABEN BHARATKUMAR	1 INE477S08126	1000000	10,00,000
UNILSTED 1 DUELIA CEDRIC BAPTISTA INFAT7508126 1000000 10,00,000		PATEL			
UNLISTED I.OUELIA CEDRIC BAPTISTA I.NE477508126 1000000 10,00,000	UNLISTED	1 ANITA YASHAVANT CHAUDHARI	1 INE477S08126	1000000	10,00,000
UNLISTED I AKVIND BANWARI LAI. CHIAWCHIARIA I NE477508126 I 1000000 I 0,00,000 I 0,00,000 UNLISTED I AKVIND BANWARI LAI. CHIAWCHIARIA I NE477508126 I 1000000 I 0,00,000 I 0,00,000 UNLISTED I SUPA GHOSAL I NE477508126 I 1000000 I 0,00,000 UNLISTED I RUPA GHOSAL I NE477508126 I 1000000 I 0,00,000 UNLISTED I PUNNIMA MEHTA I NE477508126 I 1000000 I 0,00,000 UNLISTED I PRAVIN DATTATRAY PATHI. I NE477508126 I 1000000 I 10,00,000 UNLISTED I PRAVIN DATTATRAY PATHI. I NE477508126 I 1000000 I 10,00,000 UNLISTED I NAHTA GHOTHIA I NE477508126 I 1000000 I 10,00,000 UNLISTED I SHAHAR SATISH GATTONDE I NE477508126 I 1000000 UNLISTED I SHAMB BENWAI. I NE477508126 I 1000000 UNLISTED I SHANTILAL KRAN DAVEY I NE477508126 I 1000000 UNLISTED I SHANTILAL KRAN DAVEY I NE477508126 I 1000000 UNLISTED I SHANTILAL KRAN DAVEY I NE477508126 I 1000000 UNLISTED I SHANTILAL KRAN DAVEY I NE477508126 I 1000000 UNLISTED I SHANTILAL KRAN DAVEY I NE477508126 I 1000000 UNLISTED UNLISTED I SHANTILAL KRAN BAHHA I NE477508126 I 1000000 UNLISTED I SHANTILAL KRAN DAVEY I NE477508126 I 1000000 UNLISTED I SHANTILAL KRAN DAVEY I NE477508126 I 1000000 UNLISTED UNLISTED I SHANTILAL KRAN DAVEY I NE477508126 I 1000000 UNLISTED UNLISTED I SHANTILAL KRAN DAVEY I NE477508126 I 1000000 UNLISTED UNLISTED I SHOBHA HIMANSHU BHATT I NE477508126 I 1000000 UNLISTED UNLISTED I SHOBHA HIMANSHU BHATT I NE477508126 I 1000000 UNLISTED UNLISTED I SHOBHA HIMANSHU BHATT I NE477508126 I 1000000 UNLISTED I SHOBHA HIMANSHU BHATT I NE477508126 I 1000000 UNLISTED I SHOBHA HIMANSHU BHATT I NE477508126 I 1000000 UNLISTED UNLISTED I SHOBHA HIMANSHU BHATT I NE477508126 I 1000000 UNLISTED UNLISTED I SHOBHA HIMANSHU BHATT I NE477508126 I 1000000 I 10,00,000 UNLISTED I SHOBHA HIMANSHU BHATT I NE477508126 I 1000000 I 10,00,000 UNLISTED I SHOBHA HIMANSHU BHATT I NE477508126 I 1000000 I 10,00,000 UNLISTED I SHOBHA HIMANSHU BHATT I NE477508126 I 1000000 I 10,00,000 UNLISTED I SHOBHA HIMANSHU BHATHA I NE477508126 I					
UNLISTED I AKVIND BANWARI LAI. CHIAWCHIARIA I NE477508126 I 1000000 I 0,00,000 I 0,00,000 UNLISTED I AKVIND BANWARI LAI. CHIAWCHIARIA I NE477508126 I 1000000 I 0,00,000 I 0,00,000 UNLISTED I SUPA GHOSAL I NE477508126 I 1000000 I 0,00,000 UNLISTED I RUPA GHOSAL I NE477508126 I 1000000 I 0,00,000 UNLISTED I PUNNIMA MEHTA I NE477508126 I 1000000 I 0,00,000 UNLISTED I PRAVIN DATTATRAY PATHI. I NE477508126 I 1000000 I 10,00,000 UNLISTED I PRAVIN DATTATRAY PATHI. I NE477508126 I 1000000 I 10,00,000 UNLISTED I NAHTA GHOTHIA I NE477508126 I 1000000 I 10,00,000 UNLISTED I SHAHAR SATISH GATTONDE I NE477508126 I 1000000 UNLISTED I SHAMB BENWAI. I NE477508126 I 1000000 UNLISTED I SHANTILAL KRAN DAVEY I NE477508126 I 1000000 UNLISTED I SHANTILAL KRAN DAVEY I NE477508126 I 1000000 UNLISTED I SHANTILAL KRAN DAVEY I NE477508126 I 1000000 UNLISTED I SHANTILAL KRAN DAVEY I NE477508126 I 1000000 UNLISTED I SHANTILAL KRAN DAVEY I NE477508126 I 1000000 UNLISTED UNLISTED I SHANTILAL KRAN BAHHA I NE477508126 I 1000000 UNLISTED I SHANTILAL KRAN DAVEY I NE477508126 I 1000000 UNLISTED I SHANTILAL KRAN DAVEY I NE477508126 I 1000000 UNLISTED UNLISTED I SHANTILAL KRAN DAVEY I NE477508126 I 1000000 UNLISTED UNLISTED I SHANTILAL KRAN DAVEY I NE477508126 I 1000000 UNLISTED UNLISTED I SHOBHA HIMANSHU BHATT I NE477508126 I 1000000 UNLISTED UNLISTED I SHOBHA HIMANSHU BHATT I NE477508126 I 1000000 UNLISTED UNLISTED I SHOBHA HIMANSHU BHATT I NE477508126 I 1000000 UNLISTED I SHOBHA HIMANSHU BHATT I NE477508126 I 1000000 UNLISTED I SHOBHA HIMANSHU BHATT I NE477508126 I 1000000 UNLISTED UNLISTED I SHOBHA HIMANSHU BHATT I NE477508126 I 1000000 UNLISTED UNLISTED I SHOBHA HIMANSHU BHATT I NE477508126 I 1000000 I 10,00,000 UNLISTED I SHOBHA HIMANSHU BHATT I NE477508126 I 1000000 I 10,00,000 UNLISTED I SHOBHA HIMANSHU BHATT I NE477508126 I 1000000 I 10,00,000 UNLISTED I SHOBHA HIMANSHU BHATT I NE477508126 I 1000000 I 10,00,000 UNLISTED I SHOBHA HIMANSHU BHATHA I NE477508126 I	LINI ISTED	1 LOUELLA CEDDIC BADTISTA	1 INE/77508126	1000000	10.00.000
UNLISTED ARVIND BANWARI LAI. INE477508126 1000000 10,00,00					, , ,
CHHAWCHHARIA I NE477508126 1000000 10,00,000 UNLISTED I BHURKA TEJAS SHAH I NE477508126 1000000 10,00,000 UNLISTED I RUPA GHOSAL I NE477508126 1000000 10,00,000 UNLISTED IPANIMA MEHTA I NE477508126 1000000 10,00,000 UNLISTED IPANIMA MEHTA I NE477508126 1000000 10,00,000 UNLISTED JINEETA MALAY SHAH I NE477508126 1000000 10,00,000 UNLISTED JINEETA MALAY SHAH I NE477508126 1000000 10,00,000 UNLISTED JINEETA MALAY SHAH I NE477508126 1000000 10,00,000 UNLISTED SHEKHAR SATISH GATIONDE I NE477508126 1000000 10,00,000 UNLISTED SHEKHAR SATISH GATIONDE I NE477508126 1000000 10,00,000 UNLISTED SEMAN BENNAL I NE477508126 1000000 10,00,000 UNLISTED SEMAN BENNAL I NE477508126 1000000 10,00,000 UNLISTED SHEWHAR BARTHA HERTA I NE477508126 1000000 10,00,000 UNLISTED SHEWA BERIESH SHAH I NE477508126 1000000 10,00,000 UNLISTED SHOUL BHARAT MEHTA I NE477508126 1000000 10,00,000 UNLISTED SHREYA HITESH BRAHMBHATT I NE477508126 1000000 10,00,000 UNLISTED SHOUL AND SHAM MEMBAR I NE477508126 1000000 10,00,000 UNLISTED SHOUL AND SHAM MEMBAR I NE477508126 1000000 10,00,000 UNLISTED SHOUL AND SHAM MEMBAR I NE477508126 1000000 10,00,000 UNLISTED SHOUL AND SHAM MEMBAR I NE477508126 1000000 10,00,000 UNLISTED SHOUL AND SHAM MEMBAR I NE477508126 1000000 10,00,000 UNLISTED I NEVALASHIMI I NE477508126 1000000 10,00,000 UNLISTED I NEAR MEMBAR I NE477508126 1000000 10,00,000 UNLISTED I SHOULAR AND AND HALL I NE477508126 1000000 10,00,000 UNLISTED I SHOULAR AND AND HALL I NE477508126 1000000 10,00,000 UNLISTED I MAHEMAR AND S	UNLISTED	I SUMAN ARVIND CHHAWCHHARIA	1 INE47/S08126	1000000	10,00,000
CHHAWCHHARIA I NE477508126 1000000 10,00,000 UNLISTED I BHURKA TEJAS SHAH I NE477508126 1000000 10,00,000 UNLISTED I RUPA GHOSAL I NE477508126 1000000 10,00,000 UNLISTED IPANIMA MEHTA I NE477508126 1000000 10,00,000 UNLISTED IPANIMA MEHTA I NE477508126 1000000 10,00,000 UNLISTED JINEETA MALAY SHAH I NE477508126 1000000 10,00,000 UNLISTED JINEETA MALAY SHAH I NE477508126 1000000 10,00,000 UNLISTED JINEETA MALAY SHAH I NE477508126 1000000 10,00,000 UNLISTED SHEKHAR SATISH GATIONDE I NE477508126 1000000 10,00,000 UNLISTED SHEKHAR SATISH GATIONDE I NE477508126 1000000 10,00,000 UNLISTED SEMAN BENNAL I NE477508126 1000000 10,00,000 UNLISTED SEMAN BENNAL I NE477508126 1000000 10,00,000 UNLISTED SHEWHAR BARTHA HERTA I NE477508126 1000000 10,00,000 UNLISTED SHEWA BERIESH SHAH I NE477508126 1000000 10,00,000 UNLISTED SHOUL BHARAT MEHTA I NE477508126 1000000 10,00,000 UNLISTED SHREYA HITESH BRAHMBHATT I NE477508126 1000000 10,00,000 UNLISTED SHOUL AND SHAM MEMBAR I NE477508126 1000000 10,00,000 UNLISTED SHOUL AND SHAM MEMBAR I NE477508126 1000000 10,00,000 UNLISTED SHOUL AND SHAM MEMBAR I NE477508126 1000000 10,00,000 UNLISTED SHOUL AND SHAM MEMBAR I NE477508126 1000000 10,00,000 UNLISTED SHOUL AND SHAM MEMBAR I NE477508126 1000000 10,00,000 UNLISTED I NEVALASHIMI I NE477508126 1000000 10,00,000 UNLISTED I NEAR MEMBAR I NE477508126 1000000 10,00,000 UNLISTED I SHOULAR AND AND HALL I NE477508126 1000000 10,00,000 UNLISTED I SHOULAR AND AND HALL I NE477508126 1000000 10,00,000 UNLISTED I MAHEMAR AND S					
UNLISTED	UNLISTED	1 ARVIND BANWARI LAL	1 INE477S08126	1000000	10,00,000
UNLISTED		CHHAWCHHARIA			
UNLISTED I RUPA GHOSAL I NEAT7508126 1 000000 10,00,000 UNLISTED I PURNIMA MEHTA I NEAT7508126 1 000000 10,00,000 UNLISTED I PRAYN DATTATRAY PATIL I NEAT7508126 1 000000 10,00,000 UNLISTED I JINEETA MALAY SHAH I INEAT7508126 1 000000 1 0,00,000 UNLISTED I SHEKHAR SATISH GATTONDE I INEAT7508126 1 000000 UNLISTED I SHEKHAR SATISH GATTONDE I INEAT7508126 1 000000 UNLISTED I SHEKHAR SATISH GATTONDE I INEAT7508126 1 000000 UNLISTED I SHEKHAR SATISH GATTONDE I INEAT7508126 1 000000 UNLISTED I SHEKHAR SATISH GATTONDE I NEAT7508126 I 000000 UNLISTED I SHEKHAR SATISH GATTONDE I NEAT7508126 I 000000 UNLISTED I SHEWAL I NEAT7508126 I 000000 I 0,00,000 UNLISTED I SHEWAL I NEAT7508126 I 000000 I 0,00,000 UNLISTED I SHANTI ALIKRAN DAVEY I NEAT7508126 I 000000 I 0,00,000 UNLISTED I SHANTI ALIKRAN DAVEY I NEAT7508126 I 000000 I 0,00,000 UNLISTED I SHEWAL HIEBH BEAMBHATT I INEAT7508126 I 000000 UNLISTED I SHEWAL HIEBH BEAMBHATT I INEAT7508126 I 000000 UNLISTED I SHOBHA HIMANSHU BHATT I INEAT7508126 I 000000 UNLISTED I NEGSISH ASPIL ANGRANA I INEAT7508126 I 000000 UNLISTED I NEGSISH ASPIL ANGRANA I INEAT7508126 I 000000 UNLISTED I NEGSISH ASPIL ANGRANA I INEAT7508126 I 000000 UNLISTED I NEGSISH ASPIL ANGRANA I INEAT7508126 I 000000 UNLISTED I SHOBARAMAN I INEAT7508126 I 000000 UNLISTED I NEGSISH ASPIL ANGRANA I INEAT7508126 I 000000 UNLISTED I NEGSISH ASPIL ANGRANA I INEAT7508126 I 000000 UNLISTED I NEGRISH ASPILANGRANA I INEAT7508126 I 000000 UNLISTED I NEGRISH ASPILANGRANA I INEAT7508126 I 000000 UNLISTED I SHANTA CHOTHAR I NEAT7508126 I 000000 I 0,00,000 UNLISTED I SHANTA CHOTHAR I NEAT7508126 I 000000 I 0,00,000 UNLISTED I SHANTA CHOTHAR I NEAT7508126 I 000000 I 0,00,000 UNLISTED I SHANTA CHOTHAR I NEAT7508126 I 000000 I 0,00,000 UNLISTED I SHANTA CHOTHAR I NEAT7508126 I 000000 I 0,00,000 I 0,00,0	LINI ISTED		1 INE/77\$08126	1000000	10 00 000
UNLISTED					.,,
UNLISTED PRAYED DATTATRAY PATIL					
UNLISTED 1 JINEETA MALAY SHAH 1 INE477508126 1000000 10,00,000 UNLISTED 1 ANAHTA CHOTHIA 1 INE477508126 1000000 10,00,000 UNLISTED 1 SHEKHAR SATISH GAITONDE 1 INE477508126 1000000 10,00,000 UNLISTED 1 PARUL PIVUSH FURIYA 1 INE477508126 1000000 10,00,000 UNLISTED 1 SEMB BENIWAL 1 INE477508126 1000000 10,00,000 UNLISTED 1 SHEM BENIWAL 1 INE477508126 1000000 10,00,000 UNLISTED 1 SHEM BENIWAL 1 INE477508126 1000000 10,00,000 UNLISTED 1 SHANTHAL KIRAN DAVEY 1 INE477508126 1000000 10,00,000 UNLISTED 1 SHANTHAL KIRAN DAVEY 1 INE477508126 1000000 10,00,000 UNLISTED 1 SHANTHAL KIRAN DAVEY 1 INE477508126 1000000 10,00,000 UNLISTED 1 SHENTA HITTSH BRAHMBHATT 1 INE477508126 1000000 10,00,000 UNLISTED 1 SHENTA HITTSH BRAHMBHATT 1 INE477508126 1000000 10,00,000 UNLISTED 1 SHENTA HITTSH BRAHMBHATT 1 INE477508126 1000000 10,00,000 UNLISTED 1 SHENTA HITTSH BRAHMBHATT 1 INE477508126 1000000 10,00,000 UNLISTED 1 NERGISH ASSPI LANGRANA 1 INE477508126 1000000 10,00,000 UNLISTED 1 NERGISH ASSPI LANGRANA 1 INE477508126 1000000 10,00,000 UNLISTED 1 SHENTA HITTSH BRAHMBHATT 1 INE477508126 1000000 10,00,000 UNLISTED 1 NEVILLE ASPI LANGRANA 1 INE477508126 1000000 10,00,000 UNLISTED 1 SHANTA MARKAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 NEVILLE ASPI LANGRANA 1 INE477508126 1000000 10,00,000 UNLISTED 1 INE47LANGRANA 1 INE477508126 1000000 10,00,000 UNLISTED 1 IVEMPRARIA SAMBA MURTY 2 INE477508126 1000000 10,00,000 UNLISTED 1 INEATRA MINISTED 1 INEATRA MINIS	UNLISTED	1 PURNIMA MEHTA	1 INE477S08126	1000000	10,00,000
UNILISTED 1 ANAHITA CHOTHIA 1 INE477508126 1000000 10,00,000 UNILISTED 1 SHEKHAR SATISH GAITONDE 1 INE477508126 1000000 10,00,000 10,00,000 UNILISTED 1 PARUL PYUSH FURIYA 1 INE477508126 1000000 10,00,000 UNILISTED 1 SEEMA BERIWAL 1 INE477508126 1000000 10,00,000 UNILISTED 1 SHEMAR SHIWAL 1 INE477508126 1000000 10,00,000 UNILISTED 1 BINDU BHARAT MEHTA 1 INE477508126 1000000 10,00,000 UNILISTED 1 DINDU BHARAT MEHTA 1 INE477508126 1000000 10,00,000 UNILISTED 1 SHEWA HITESH BRAHMBHATT 1 INE477508126 1000000 10,00,000 UNILISTED 1 SHOBHA HIMANSHU BHATT 1 INE477508126 1000000 10,00,000 UNILISTED 1 SHOBHA HIMANSHU BHATT 1 INE477508126 1000000 10,00,000 UNILISTED 1 NEW GISHA SHIPLANGRANA 1 INE477508126 1000000 10,00,000 UNILISTED 1 ASPI FARAMROSE LANGRANA 1 INE477508126 1000000 10,00,000 UNILISTED 1 ASPI FARAMROSE LANGRANA 1 INE477508126 1000000 10,00,000 UNILISTED 1 BANU ASPI LANGRANA 1 INE477508126 1000000 10,00,000 UNILISTED 1 BANU ASPI LANGRANA 1 INE477508126 1000000 10,00,000 UNILISTED 1 VEMPARALA SAMBA MURTY 2 INE477508126 1000000 10,00,000 UNILISTED 1 IV UJAYALAKSHMI 1 INE477508126 1000000 10,00,000 UNILISTED 1 IV UJAYALAKSHMI 1 INE477508126 1000000 10,00,000 UNILISTED 1 BALALAKSHMI SUNDARESAN 1 INE477508126 1000000 10,00,000 UNILISTED 1 SUNDARARAJAN.V 5 INE477508126 1000000 10,00,000 UNILISTED 1 SUNDARAMAJANA BALEL 1 INE477508126 1000000 10,00,000 UNILISTED 1 SHOBHANA JAGADEESHAN 1 INE477508126 1000000 10,00,000 UNILISTED 1 MAHENDRA PRATAP SINGH 1 INE477508126 1000000 10,00,000 UNILISTED 1 MAHENDRA PRATAP	UNLISTED	1 PRAVIN DATTATRAY PATIL	1 INE477S08126	1000000	10,00,000
UNILISTED 1 ANAHITA CHOTHIA 1 INE477508126 1000000 10,00,000 UNILISTED 1 SHEKHAR SATISH GAITONDE 1 INE477508126 1000000 10,00,000 10,00,000 UNILISTED 1 PARUL PYUSH FURIYA 1 INE477508126 1000000 10,00,000 UNILISTED 1 SEEMA BERIWAL 1 INE477508126 1000000 10,00,000 UNILISTED 1 SHEMAR SHIWAL 1 INE477508126 1000000 10,00,000 UNILISTED 1 BINDU BHARAT MEHTA 1 INE477508126 1000000 10,00,000 UNILISTED 1 DINDU BHARAT MEHTA 1 INE477508126 1000000 10,00,000 UNILISTED 1 SHEWA HITESH BRAHMBHATT 1 INE477508126 1000000 10,00,000 UNILISTED 1 SHOBHA HIMANSHU BHATT 1 INE477508126 1000000 10,00,000 UNILISTED 1 SHOBHA HIMANSHU BHATT 1 INE477508126 1000000 10,00,000 UNILISTED 1 NEW GISHA SHIPLANGRANA 1 INE477508126 1000000 10,00,000 UNILISTED 1 ASPI FARAMROSE LANGRANA 1 INE477508126 1000000 10,00,000 UNILISTED 1 ASPI FARAMROSE LANGRANA 1 INE477508126 1000000 10,00,000 UNILISTED 1 BANU ASPI LANGRANA 1 INE477508126 1000000 10,00,000 UNILISTED 1 BANU ASPI LANGRANA 1 INE477508126 1000000 10,00,000 UNILISTED 1 VEMPARALA SAMBA MURTY 2 INE477508126 1000000 10,00,000 UNILISTED 1 IV UJAYALAKSHMI 1 INE477508126 1000000 10,00,000 UNILISTED 1 IV UJAYALAKSHMI 1 INE477508126 1000000 10,00,000 UNILISTED 1 BALALAKSHMI SUNDARESAN 1 INE477508126 1000000 10,00,000 UNILISTED 1 SUNDARARAJAN.V 5 INE477508126 1000000 10,00,000 UNILISTED 1 SUNDARAMAJANA BALEL 1 INE477508126 1000000 10,00,000 UNILISTED 1 SHOBHANA JAGADEESHAN 1 INE477508126 1000000 10,00,000 UNILISTED 1 MAHENDRA PRATAP SINGH 1 INE477508126 1000000 10,00,000 UNILISTED 1 MAHENDRA PRATAP	UNLISTED	1 JINEETA MALAY SHAH	1 INF477S08126	1000000	10.00.000
UNILSTED 1 SHEKHAR SATISH GAITONDE 1 INE477508126 1000000 10,00,000 UNILSTED 1 PARUL PLYUSH FURIYA 1 INE477508126 1000000 10,00,00					, ,
UNLISTED 1 SEEMA BENIWAL 1 INE477508126 1000000 10,00,000 UNLISTED 1 SEEMA BENIWAL 1 INE477508126 1000000 10,00,000 UNLISTED 1 SHANTILLAL KIRAN DAVEY 1 INE477508126 1000000 10,00,000 UNLISTED 1 BINDU BHARAT MEHTA 1 INE477508126 1000000 10,00,000 UNLISTED 1 INSIMA BRUESH SHAH 1 INE477508126 1000000 10,00,000 UNLISTED 1 SHREYA HITESH BRAHMBHATT 1 INE477508126 1000000 10,00,000 UNLISTED 1 SHREYA HITESH BRAHMBHATT 1 INE477508126 1000000 10,00,000 UNLISTED 1 SHOBHA HIMANSHU BHATT 1 INE477508126 1000000 10,00,000 UNLISTED 1 NEGRISH ASPI LANGRANA 1 INE477508126 1000000 10,00,000 UNLISTED 1 ASPI FARAMROSE LANGRANA 1 INE477508126 1000000 10,00,000 UNLISTED 1 NEVILLE ASPI LANGRANA 1 INE477508126 1000000 10,00,000 UNLISTED 1 BANU ASPI LANGRANA 1 INE477508126 1000000 10,00,000 UNLISTED 1 BANU ASPI LANGRANA 1 INE477508126 1000000 10,00,000 UNLISTED 1 BANU ASPI LANGRANA 1 INE477508126 1000000 10,00,000 UNLISTED 1 HV VUAYALAKSHMI. 1 INE477508126 1000000 10,00,000 UNLISTED 1 BALALAKSHMI SUNDARESAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 SUNDARARAIAN \ 1 INE477508126 1000000 10,00,000 UNLISTED 1 SHOBHANA JAGADEESAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 SHOBHANA JAGADEESAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 SHOBHANA JAGADEESAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 MAHENDRA PRATAP SINGH 1 INE477508126 1000000 10,00,000 UNLISTED 1 RAMASWAWY MUNIAPPAN ANANDH 1 INE477508126 1000000 10,00,000 UNLISTED 1 RAMARAMAN JAGADEESAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 RAMARAHAN WELKAT RAGHAVAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 RAMACHANDRAN BALACHANDRA 1 INE4775081					
UNLISTED I SEEMA BERIWAL I NE477508126 1000000 10,00,000 UNLISTED I SHANTILAL KIRAN DAVEY I NE477508126 1000000 10,00,					
UNILSTED 1 SHANTILAL KIRAN DAVEY 1 INE477508126 1000000 10,00,000 UNILSTED 1 BINDU BHARAT MEHTA 1 INE477508126 1000000 10,00,000 UNILSTED 1 SHREYA HITESH BRAHMBHATT 1 INE477508126 1000000 10,00,000 UNILSTED 1 SHREYA HITESH BRAHMBHATT 1 INE477508126 1000000 10,00,000 UNILSTED 1 SHOBHA HIMANSHU BHATT 1 INE477508126 1000000 10,00,000 UNILSTED 1 SHOBHA HIMANSHU BHATT 1 INE477508126 1000000 10,00,000 UNILSTED 1 NEGISH ASPI LANGRANA 1 INE477508126 1000000 10,00,000 UNILSTED 1 ASPI FARAMROSE LANGRANA 1 INE477508126 1000000 10,00,000 UNILSTED 1 NEVILLE ASPI LANGRANA 1 INE477508126 1000000 10,00,000 UNILSTED 1 DAVILLE ASPI LANGRANA 1 INE477508126 1000000 10,00,000 UNILSTED 1 VEMPARALLA SAMBA MURTY 2 INE477508126 1000000 10,00,000 UNILSTED 1 VEMPARALLA SAMBA MURTY 2 INE477508126 1000000 10,00,000 UNILSTED 1 H V VIJAYALAKSHMI 1 INE477508126 1000000 10,00,000 UNILSTED 1 BALALAKSHMI SUNDARESAN 1 INE477508126 1000000 10,00,000 UNILSTED 1 SUNDARARAJAN \	UNLISTED	1 PARUL PIYUSH FURIYA	1 INE477S08126	1000000	10,00,000
UNILSTED 1 BINDU BHARAT MEHTA 1 INE477508126 1000000 10,00,000 UNILSTED 1 NISHA BRIJESH SHAH 1 INE477508126 1000000 10,00,000 10,00,000 UNILSTED 1 SHREYA HITESH BRAHMBHATT 1 INE477508126 1000000 10,00,000 UNILSTED 1 SHOBHA HIMANSHU BHATT 1 INE477508126 1000000 10,00,000 UNILSTED 1 NEGISH ASPILANGRANA 1 INE477508126 1000000 10,00,000 UNILSTED 1 ASPI FARAMROSE LANGRANA 1 INE477508126 1000000 10,00,000 UNILSTED 1 ASPI FARAMROSE LANGRANA 1 INE477508126 1000000 10,00,000 UNILSTED 1 BANU ASPILANGRANA 1 INE477508126 1000000 10,00,000 UNILSTED 1 BANU ASPILANGRANA 1 INE477508126 1000000 10,00,000 UNILSTED 1 VEMPARALA SAMBA MURTY 2 INE477508126 1000000 20,00,000 UNILSTED 1 H V VUJAYALAKSHMI. 1 INE477508126 1000000 10,00,000 UNILSTED 1 BALALAKSHMI SUNDARESAN 1 INE477508126 1000000 10,00,000 UNILSTED 1 SUNDARRAJAN.V 5 INE477508126 1000000 50,00,000 UNILSTED 1 SANJAYA BAHEL. 1 INE477508126 1000000 50,00,000 UNILSTED 1 SANJAYA BAHEL. 1 INE477508126 1000000 10,00,000 UNILSTED 1 SELLAPPAGOUNDER KUPPUSAMY . 1 INE477508126 1000000 10,00,000 UNILSTED 1 SELAPPAGOUNDER KUPPUSAMY . 1 INE477508126 1000000 10,00,000 UNILSTED 1 SUBBARAMAN JAGADEESHAN 1 INE477508126 1000000 10,00,000 UNILSTED 1 SUBBARAMAN JAGADEESHAN 1 INE477508126 1000000 10,00,000 UNILSTED 1 RAMASWAMY MUNIAPPAN ANANDH . 1 INE477508126 1000000 10,00,000 UNILSTED 1 RAMASWAMY MUNIAPPAN ANANDH . 1 INE477508126 1000000 10,00,000 UNILSTED 1 RAMASWAMY MUNIAPPAN ANANDH . 1 INE477508126 1000000 10,00,000 UNILSTED 1 RAMASWAMY MUNIAPPAN ANANDH . 1 INE477508126 1000000 10,00,000 UNILSTED 1 RAMANUJAM VENKAT RAGHAVAN . 1 INE477508126 1000000 10,00,000 UNILSTED 1 RAMACHANDRAN BALCHANDRA . 1 INE477508126 1000000 10,00,000 UNILSTED 1 VIVEK NAR . 1 INE477508126 1000000 10,00,000 UNILSTED 1 RAMACHANDRAN BALCHANDRA . 1 INE47	UNLISTED	1 SEEMA BENIWAL	1 INE477S08126	1000000	10,00,000
UNILSTED 1 BINDU BHARAT MEHTA 1 INE477508126 1000000 10,00,000 UNILSTED 1 NISHA BRIJESH SHAH 1 INE477508126 1000000 10,00,000 10,00,000 UNILSTED 1 SHREYA HITESH BRAHMBHATT 1 INE477508126 1000000 10,00,000 UNILSTED 1 SHOBHA HIMANSHU BHATT 1 INE477508126 1000000 10,00,000 UNILSTED 1 NEGISH ASPILANGRANA 1 INE477508126 1000000 10,00,000 UNILSTED 1 ASPI FARAMROSE LANGRANA 1 INE477508126 1000000 10,00,000 UNILSTED 1 ASPI FARAMROSE LANGRANA 1 INE477508126 1000000 10,00,000 UNILSTED 1 BANU ASPILANGRANA 1 INE477508126 1000000 10,00,000 UNILSTED 1 BANU ASPILANGRANA 1 INE477508126 1000000 10,00,000 UNILSTED 1 VEMPARALA SAMBA MURTY 2 INE477508126 1000000 20,00,000 UNILSTED 1 H V VUJAYALAKSHMI. 1 INE477508126 1000000 10,00,000 UNILSTED 1 BALALAKSHMI SUNDARESAN 1 INE477508126 1000000 10,00,000 UNILSTED 1 SUNDARRAJAN.V 5 INE477508126 1000000 50,00,000 UNILSTED 1 SANJAYA BAHEL. 1 INE477508126 1000000 50,00,000 UNILSTED 1 SANJAYA BAHEL. 1 INE477508126 1000000 10,00,000 UNILSTED 1 SELLAPPAGOUNDER KUPPUSAMY . 1 INE477508126 1000000 10,00,000 UNILSTED 1 SELAPPAGOUNDER KUPPUSAMY . 1 INE477508126 1000000 10,00,000 UNILSTED 1 SUBBARAMAN JAGADEESHAN 1 INE477508126 1000000 10,00,000 UNILSTED 1 SUBBARAMAN JAGADEESHAN 1 INE477508126 1000000 10,00,000 UNILSTED 1 RAMASWAMY MUNIAPPAN ANANDH . 1 INE477508126 1000000 10,00,000 UNILSTED 1 RAMASWAMY MUNIAPPAN ANANDH . 1 INE477508126 1000000 10,00,000 UNILSTED 1 RAMASWAMY MUNIAPPAN ANANDH . 1 INE477508126 1000000 10,00,000 UNILSTED 1 RAMASWAMY MUNIAPPAN ANANDH . 1 INE477508126 1000000 10,00,000 UNILSTED 1 RAMANUJAM VENKAT RAGHAVAN . 1 INE477508126 1000000 10,00,000 UNILSTED 1 RAMACHANDRAN BALCHANDRA . 1 INE477508126 1000000 10,00,000 UNILSTED 1 VIVEK NAR . 1 INE477508126 1000000 10,00,000 UNILSTED 1 RAMACHANDRAN BALCHANDRA . 1 INE47		1 SHANTILAL KIRAN DAVEY		1000000	10.00.000
UNLISTED 1 NISHA BRJUESH SHAH 1 INE477508126 1000000 10,00,000 10,					
UNLISTED 1 SHREYA HITESH BRAHMBHATT 1 INE477508126 1000000 10,00,000					, ,
UNLISTED 1 SHOBHA HIMANSHU BHATT 1 INE477508126 1000000 10,00,000 UNLISTED 1 NERGISH ASPI LANGRANA 1 INE477508126 1000000 10,00,000 UNLISTED 1 ASPI FARAMROSE LANGRANA 1 INE477508126 1000000 10,00,000 UNLISTED 1 NEVILLE ASPI LANGRANA 1 INE477508126 1000000 10,00,000 UNLISTED 1 SAVILLE ASPI LANGRANA 1 INE477508126 1000000 10,00,000 UNLISTED 1 VEMPARALA SAMBA MURTY 2 INE477508126 1000000 20,00,000 UNLISTED 1 VEMPARALA SAMBA MURTY 2 INE477508126 1000000 10,00,000 UNLISTED 1 H V VUAYALAKSHMI 1 INE477508126 1000000 10,00,000 UNLISTED 1 BALALAKSHMI SUNDARESAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 SUNDARARAJANV 5 INE477508126 1000000 50,00,000 UNLISTED 1 SUNDARARAJANV 5 INE477508126 1000000 50,00,000 UNLISTED 1 SANIAYA BAHEL 1 INE477508126 1000000 10,00,000 UNLISTED 1 SELLAPPAGOUNDER KUPPUSAMY 1 INE477508126 1000000 10,00,000 UNLISTED 1 SELLAPPAGOUNDER KUPPUSAMY 1 INE477508126 1000000 10,00,000 UNLISTED 1 SUNBARAMAN JAGADEESHAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 SUBBARAMAN JAGADEESHAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 MAHENDRA PRATAP SINGH 1 INE477508126 1000000 10,00,000 UNLISTED 1 RAMASWAMY MUNLAPPAN ANANDH 1 INE477508126 1000000 10,00,000 UNLISTED 1 RAMASWAMY MUNLAPPAN ANANDH 1 INE477508126 1000000 10,00,000 UNLISTED 1 RAMASWAMY MUNLAPPAN ANANDH 1 INE477508126 1000000 10,00,000 UNLISTED 1 RAMASWAMY MUNLAPPAN ANANDH 1 INE477508126 1000000 10,00,000 UNLISTED 1 RAMASWAMY MUNLAPPAN ANANDH 1 INE477508126 1000000 10,00,000 UNLISTED 1 RAMASWAMY MUNLAPPAN ANANDH 1 INE477508126 1000000 10,00,000 UNLISTED 1 RAMACHANDAN BALACHANDAR 1 INE477508126 1000000 10,00,000 UNLISTED 1 VANATHI MAHESWARAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 VANATHI MAHESWARAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 VANATHI MAHESWARAN 1 INE477508126 1000000					, ,
UNLISTED 1 NERGISH ASPI LANGRANA 1 INE477508126 1000000 10,00,000 UNLISTED 1 ASPI FARAMROSE LANGRANA 1 INE477508126 1000000 10,00,000 UNLISTED 1 NEVILLE ASPI LANGRANA 1 INE477508126 1000000 10,00,000 UNLISTED 1 BANU ASPI LANGRANA 1 INE477508126 1000000 10,00,000 UNLISTED 1 BANU ASPI LANGRANA 1 INE477508126 1000000 10,00,000 UNLISTED 1 VEMPARALA SAMBA MURTY 2 INE477508126 1000000 10,00,000 UNLISTED 1 H V VUNYALASSHMI 1 INE477508126 1000000 10,00,000 UNLISTED 1 BALALAKSHMI SUNDARESAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 SUNDARARAJAN.V 5 INE477508126 1000000 50,00,000 UNLISTED 1 SANIAYA BAHEL 1 INE477508126 1000000 10,00,000 UNLISTED 1 SANIAYA BAHEL 1 INE477508126 1000000 10,00,000 UNLISTED 1 SELLAPPAGOUNDER KUPPUSAMY 1 INE477508126 1000000 10,00,000 UNLISTED 1 SHOBHANA JAGADEESHAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 SHOBHANA JAGADEESHAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 MAHENDRA PRATAP SINGH 1 INE477508126 1000000 10,00,000 UNLISTED 1 MAHENDRA PRATAP SINGH 1 INE477508126 1000000 10,00,000 UNLISTED 1 RAMASWAMY MUNIAPPAN ANANDH 1 INE477508126 1000000 10,00,000 UNLISTED 1 MAHENDRA PRATAP SINGH 1 INE477508126 1000000 10,00,000 UNLISTED 1 MAHENDRA PRATAP SINGH 1 INE477508126 1000000 10,00,000 UNLISTED 1 MAHENDRA PRATAP SINGH 1 INE477508126 1000000 10,00,000 UNLISTED 1 MANJULA MURUGAIYAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 RAMACHANDRAN PRATAP SINGH 1 INE477508126 1000000 10,00,000 UNLISTED 1 RAMACHANDRAN BALACHANDAR 1 INE477508126 1000000 10,00,000 UNLISTED 1 VIVEK NAIR 1 INE477508126 1000000 10,00,000 UNLISTED 1 VINAYA RAGHAVAN 1 INE47750	UNLISTED	1 SHREYA HITESH BRAHMBHATT	1 INE477S08126	1000000	10,00,000
UNLISTED 1 ASPI FARAMROSE LANGRANA	UNLISTED	1 SHOBHA HIMANSHU BHATT	1 INE477S08126	1000000	10,00,000
UNLISTED 1 ASPI FARAMROSE LANGRANA	UNLISTED	1 NERGISH ASPI LANGRANA	1 INE477S08126	1000000	10,00,000
UNLISTED 1 NEVILLE ASPI LANGRANA 1 INE477508126 1000000 10,00,000 UNLISTED 1 BANU ASPI LANGRANA 1 INE477508126 1000000 20,00,000 UNLISTED 1 VEMPARALA SAMBA MURTY 2 INE477508126 1000000 20,00,000 UNLISTED 1 H V VIJAYALAKSHMI. 1 INE477508126 1000000 10,00,000 UNLISTED 1 BALALAKSHMI SUNDARESAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 SUNDARARAJAN.V. 5 INE477508126 1000000 50,00,000 UNLISTED 1 SANJAYA BAHEL. 1 INE477508126 1000000 50,00,000 UNLISTED 1 SANJAYA BAHEL. 1 INE477508126 1000000 10,00,000 UNLISTED 1 SELLAPPAGOUNDER KUPPUSAMY. 1 INE477508126 1000000 10,00,000 UNLISTED 1 SHOBHANA JAGADEESHAN. 1 INE477508126 1000000 10,00,000 UNLISTED 1 SHOBHANA JAGADEESHAN. 1 INE477508126 1000000 10,00,000 UNLISTED 1 MAHENDER PRATAP SINGH. 1 INE477508126 1000000 10,00,000 UNLISTED 1 MAHENDER PRATAP SINGH. 1 INE477508126 1000000 10,00,000 UNLISTED 1 RAMASWAMY MUNIAPPAN ANANDH. 1 INE477508126 1000000 10,00,000 UNLISTED 1 RAMASWAMY MUNIAPPAN ANANDH. 1 INE477508126 1000000 10,00,000 UNLISTED 1 RAMANULA MURUGAIYAN. 1 INE477508126 1000000 10,00,000 UNLISTED 1 RAMANUAM VENKAT RAGHAVAN. 1 INE477508126 1000000 10,00,000 UNLISTED 1 RAMANUAM VENKAT RAGHAVAN. 1 INE477508126 1000000 10,00,000 UNLISTED 1 VIVEK NAIR. 3 INE477508126 1000000 10,00,000 UNLISTED 1 VIVEK NAIR. 1 INE477508126 1000000 10,00,000 UNLISTED 1 VIVAYA RAGHAVAN. 1 INE477508126 1000000 10,00,000 UNLISTED 1 VIVEK NAIR. 1 INE477508126 1000000 10,00,000 UNLISTED 1 LAKSHMANAN VELLAYAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 LAKSHMANAN LAYAN					
UNLISTED 1 BANU ASPI LANGRANA 1 INE477508126 1000000 10,00,000 10,					
UNLISTED 1 VEMPARALA SAMBA MURTY 2 INE477508126 1000000 20,00,000 10,00,000					
UNLISTED				1000000	10,00,000
UNLISTED 1 BALALAKSHMI SUNDARESAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUNDARARAJAN.V. 5 INE477S08126 1000000 50,00,000 UNLISTED 1 SANJAYA BAHEL. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 N PADMINI. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SELLAPPAGOUNDER KUPPUSAMY. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SHOBHANA JAGADEESHAN. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBBARAMAN JAGADEESHAN. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 MAHENDRA PRATAP SINGH. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 RAMASWAMY MUNIAPPAN ANANDH. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 S PUSHPARANI. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 MANJULA MURUGAIYAN. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 RADHA RAJESH. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 RAMANUJAM VENKAT RAGHAVAN. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 RAMANUJAM VENKAT RAGHAVAN. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 VIVEK NAIR. 3 INE477S08126 1000000 30,00,000 UNLISTED 1 VIJAYA RAGHAVAN. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LAKSHMANAN VELLAYAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LAKSHMANAN VELLAYAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LAKSHMANAN VELLAYAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 DAGANATHAN. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LAKSHMANNAN VELLAYAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SATEESH KUMAR. 1 INE477S08126 1000000 10,00,000 UN	UNLISTED	1 VEMPARALA SAMBA MURTY	2 INE477S08126	1000000	20,00,000
UNLISTED 1 BALALAKSHMI SUNDARESAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUNDARARAJAN.V. 5 INE477S08126 1000000 50,00,000 UNLISTED 1 SANJAYA BAHEL. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 N PADMINI. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SELLAPPAGOUNDER KUPPUSAMY. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SHOBHANA JAGADEESHAN. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBBARAMAN JAGADEESHAN. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 MAHENDRA PRATAP SINGH. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 RAMASWAMY MUNIAPPAN ANANDH. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 S PUSHPARANI. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 MANJULA MURUGAIYAN. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 RADHA RAJESH. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 RAMANUJAM VENKAT RAGHAVAN. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 RAMANUJAM VENKAT RAGHAVAN. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 VIVEK NAIR. 3 INE477S08126 1000000 30,00,000 UNLISTED 1 VIJAYA RAGHAVAN. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LAKSHMANAN VELLAYAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LAKSHMANAN VELLAYAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LAKSHMANAN VELLAYAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 DAGANATHAN. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LAKSHMANNAN VELLAYAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SATEESH KUMAR. 1 INE477S08126 1000000 10,00,000 UN	UNLISTED	1 H V VIJAYALAKSHMI .	1 INE477S08126	1000000	10,00,000
UNLISTED			1 INF477S08126	1000000	10 00 000
UNLISTED 1 SANJAYA BAHEL 1 INE477508126 1000000 10,00,000 UNLISTED 1 N PADMINI 1 INE477508126 1000000 10,00,000 UNLISTED 1 SELLAPPAGOUNDER KUPPUSAMY 1 INE477508126 1000000 10,00,000 UNLISTED 1 SHOBHANA JAGADEESHAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 SUBBARAMAN JAGADEESHAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 MAHENDRA PRATAP SINGH 1 INE477508126 1000000 10,00,000 UNLISTED 1 RAMASWAMY MUNIAPPAN ANANDH 1 INE477508126 1000000 10,00,000 UNLISTED 1 S PUSHPARANI 1 INE477508126 1000000 10,00,000 UNLISTED 1 MANJULA MURUGAIYAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 RADHA RAJESH 1 INE477508126 1000000 10,00,000 UNLISTED 1 RAMANUJAM VENKAT RAGHAVAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 RAMANUJAM VENKAT RAGHAVAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 VIVEK NAIR 3 INE477508126 1000000 10,00,000 UNLISTED 1 VIJAYA RAGHAVAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 VIJAYA RAGHAVAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 VANATHI MAHESWARAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 MEYYAMMAI KRISHNAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 LAKSHMANAN VELLAYAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 P S MURUGANATHAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 NEERA BAHEL 1 INE477508126 1000000 10,00,000 UNLISTED 1 NEERA BAHEL 1 INE477508126 1000000 10,00,000 UNLISTED 1 SUBRAMANIAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 LOGANATHAN NAGARAJ 1 INE477508126 1000000 10,00,000 UNLISTED 1 SUBRAMANIAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 SUBRAMANIAN 1 INE477508126 1000000 10,00,000 UNLISTED 1 SATEESH KUMAR 1 INE477508126 1000000 10,00,000 UNLISTED 1 SATEESH KUMAR 1 INE477508126 1000000 10,00,000 UNLISTED 1 SATEESH KUMAR 3 INE477508126 1000000 10,00,000 UNLISTED 1 SATEESH KUMAR 3 INE477508126 1000000					, ,
UNLISTED 1 N PADMINI 1 NE477508126 1000000 10,00,000					/ /
UNLISTED I SELLAPPAGOUNDER KUPPUSAMY I INE477S08126 1000000 10,00,000					
UNLISTED 1 SHOBHANA JAGADEESHAN . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBBARAMAN JAGADEESAN . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 MAHENDRA PRATAP SINGH . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 RAMASWAMY MUNIAPPAN ANANDH . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 S PUSHPARANI . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 MANJULA MURUGAIYAN . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 RADHA RAJESH . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 RAMANUJAM VENKAT RAGHAVAN . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 VIVEK NAIR . 3 INE477S08126 1000000 10,00,000 UNLISTED 1 VIJAYA RAGHAVAN . 1 INE477S08126 1000000 30,00,000 UNLISTED 1 VIJAYA RAGHAVAN . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 VIJAYA RAGHAVAN . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 VANATHI MAHESWARAN . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 VANATHI MAHESWARAN . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LAKSHMANAN VELLAYAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LAKSHMANAN VELLAYAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LAKSHMANAN VELLAYAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 P S MURUGANATHAN . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 P S MURUGANATHAN . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 NEERA BAHE . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LOGANATHAN NAGARAJ 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LOGANATHAN NAGARAJ 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBRAMANIAN . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LOGANATHAN NAGARAJ 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBRAMANIAN . 1 INE477S08126 1000000 10,00,00	UNLISTED	1 N PADMINI .	1 INE477S08126	1000000	10,00,000
UNLISTED 1 SUBBARAMAN JAGADEESAN 1 INE477508126 1000000 10,00,000	UNLISTED	1 SELLAPPAGOUNDER KUPPUSAMY .	1 INE477S08126	1000000	10,00,000
UNLISTED 1 SUBBARAMAN JAGADEESAN 1 INE477508126 1000000 10,00,000					
UNLISTED 1 SUBBARAMAN JAGADEESAN 1 INE477508126 1000000 10,00,000	LINI ISTED	1 SHORHANA IAGADEESHAN	1 INE/77508126	1000000	10 00 000
UNLISTED					/ /
UNLISTED 1 RAMASWAMY MUNIAPPAN ANANDH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 S PUSHPARANI 1 INE477S08126 1000000 10,00,000 UNLISTED 1 MANJULA MURUGAIYAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 RADHA RAJESH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 RAMANUJAM VENKAT RAGHAVAN 1 INE477S08126 1000000 30,00,000 UNLISTED 1 VIVEK NAIR 3 INE477S08126 1000000 30,00,000 UNLISTED 1 VUJAYA RAGHAVAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 RAMACHANDRAN BALACHANDAR 1 INE477S08126 1000000 10,00,000 UNLISTED 1 VANATHI MAHESWARAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 MEYYAMMAI KRISHNAN 1 INE477S08126 1000000 10,00,000 UNLISTED					, ,
UNLISTED 1 S PUSHPARANI 1 INE477S08126 1000000 10,00,000					
UNLISTED 1 S PUSHPARANI 1 INE477S08126 1000000 10,00,000	UNLISTED	1 RAMASWAMY MUNIAPPAN ANANDH .	1 INE477S08126	1000000	10,00,000
UNLISTED I MANJULA MURUGAIYAN I INE477S08126 1000000 10,00,000 UNLISTED I RADHA RAJESH I INE477S08126 1000000 10,00,000 UNLISTED I RAMANUJAM VENKAT RAGHAVAN I INE477S08126 1000000 30,00,000 UNLISTED I VIVEK NAIR 3 INE477S08126 1000000 30,00,000 UNLISTED I VIJAYA RAGHAVAN I INE477S08126 1000000 10,00,000 UNLISTED I RAMACHANDRAN BALACHANDAR I INE477S08126 1000000 10,00,000 UNLISTED I VANATHI MAHESWARAN I INE477S08126 1000000 10,00,000 UNLISTED I MEYYAMMAI KRISHNAN I INE477S08126 1000000 10,00,000 UNLISTED I LAKSHMANAN VELLAYAN I INE477S08126 1000000 10,00,000 UNLISTED I PS MURUGANATHAN I INE477S08126 1000000 10,00,000 UNLISTED					. ,
UNLISTED I MANJULA MURUGAIYAN I INE477S08126 1000000 10,00,000 UNLISTED I RADHA RAJESH I INE477S08126 1000000 10,00,000 UNLISTED I RAMANUJAM VENKAT RAGHAVAN I INE477S08126 1000000 30,00,000 UNLISTED I VIVEK NAIR 3 INE477S08126 1000000 30,00,000 UNLISTED I VIJAYA RAGHAVAN I INE477S08126 1000000 10,00,000 UNLISTED I RAMACHANDRAN BALACHANDAR I INE477S08126 1000000 10,00,000 UNLISTED I VANATHI MAHESWARAN I INE477S08126 1000000 10,00,000 UNLISTED I MEYYAMMAI KRISHNAN I INE477S08126 1000000 10,00,000 UNLISTED I LAKSHMANAN VELLAYAN I INE477S08126 1000000 10,00,000 UNLISTED I PS MURUGANATHAN I INE477S08126 1000000 10,00,000 UNLISTED	LINI ISTED	1 S PUSHPAR ANI	1 INF477808126	1000000	10 00 000
UNLISTED 1 RADHA RAJESH 1 INE477S08126 1000000 10,00,000 UNLISTED 1 RAMANUJAM VENKAT RAGHAVAN 1 INE477S08126 1000000 30,00,000 UNLISTED 1 VIVEK NAIR 3 INE477S08126 1000000 30,00,000 UNLISTED 1 VIJAYA RAGHAVAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 RAMACHANDRAN BALACHANDAR 1 INE477S08126 1000000 10,00,000 UNLISTED 1 VANATHI MAHESWARAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 MEYYAMMAI KRISHNAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LAKSHMANAN VELLAYAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 P S MURUGANATHAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 NEERA BAHEL 1 INE477S08126 10000000 10,00,000 UNLISTED <t< td=""><td></td><td></td><td></td><td></td><td></td></t<>					
UNLISTED 1 RAMANUJAM VENKAT RAGHAVAN . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 VIVEK NAIR . 3 INE477S08126 1000000 30,00,000 UNLISTED 1 VIJAYA RAGHAVAN . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 RAMACHANDRAN BALACHANDAR . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 VANATHI MAHESWARAN . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 MEYYAMMAI KRISHNAN . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LAKSHMANAN VELLAYAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 P S MURUGANATHAN . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 INEARA BAHEL . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LOGANATHAN NAGARAJ 1 INE477S08126 1000000 10,00,000 UN					/ /
UNLISTED 1 VIVEK NAIR. 3 INE477S08126 1000000 30,00,000 UNLISTED 1 VIJAYA RAGHAVAN. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 RAMACHANDRAN BALACHANDAR. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 VANATHI MAHESWARAN. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 MEYYAMMAI KRISHNAN. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LAKSHMANAN VELLAYAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 P S MURUGANATHAN. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 NEERA BAHEL. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LOGANATHAN NAGARAJ 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBRAMANIAN. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SATEESH KUMAR. 3 INE477S08126 1000000 30,00,000					10,00,000
UNLISTED 1 VIJAYA RAGHAVAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 RAMACHANDRAN BALACHANDAR 1 INE477S08126 1000000 10,00,000 UNLISTED 1 VANATHI MAHESWARAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 MEYYAMMAI KRISHNAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LAKSHMANAN VELLAYAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 P S MURUGANATHAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 NEERA BAHEL 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LOGANATHAN NAGARAJ 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBRAMANIAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SATEESH KUMAR 3 INE477S08126 1000000 30,00,000	UNLISTED	1 RAMANUJAM VENKAT RAGHAVAN .	1 INE477S08126	1000000	10,00,000
UNLISTED 1 VIJAYA RAGHAVAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 RAMACHANDRAN BALACHANDAR 1 INE477S08126 1000000 10,00,000 UNLISTED 1 VANATHI MAHESWARAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 MEYYAMMAI KRISHNAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LAKSHMANAN VELLAYAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 P S MURUGANATHAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 NEERA BAHEL 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LOGANATHAN NAGARAJ 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBRAMANIAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SATEESH KUMAR 3 INE477S08126 1000000 30,00,000					
UNLISTED 1 VIJAYA RAGHAVAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 RAMACHANDRAN BALACHANDAR 1 INE477S08126 1000000 10,00,000 UNLISTED 1 VANATHI MAHESWARAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 MEYYAMMAI KRISHNAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LAKSHMANAN VELLAYAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 P S MURUGANATHAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 NEERA BAHEL 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LOGANATHAN NAGARAJ 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBRAMANIAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SATEESH KUMAR 3 INE477S08126 1000000 30,00,000	UNLISTED	1 VIVEK NAIR	3 INF477S08126	1000000	30.00 000
UNLISTED 1 RAMACHANDRAN BALACHANDAR . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 VANATHI MAHESWARAN . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 MEYYAMMAI KRISHNAN . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LAKSHMANAN VELLAYAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 P S MURUGANATHAN . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 NEERA BAHEL . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LOGANATHAN NAGARAJ 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBRAMANIAN . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SATEESH KUMAR . 3 INE477S08126 1000000 30,00,000					
UNLISTED 1 VANATHI MAHESWARAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 MEYYAMMAI KRISHNAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LAKSHMANAN VELLAYAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 P S MURUGANATHAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 NEERA BAHEL 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LOGANATHAN NAGARAJ 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBRAMANIAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SATEESH KUMAR 3 INE477S08126 1000000 30,00,000					
UNLISTED 1 MEYYAMMAI KRISHNAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LAKSHMANAN VELLAYAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 P S MURUGANATHAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 NEERA BAHEL 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LOGANATHAN NAGARAJ 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBRAMANIAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SATEESH KUMAR 3 INE477S08126 1000000 30,00,000	UNLISTED	I KAMACHANDKAN BALACHANDAR .	1 INE477S08126	1000000	10,00,000
UNLISTED 1 MEYYAMMAI KRISHNAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LAKSHMANAN VELLAYAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 P S MURUGANATHAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 NEERA BAHEL 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LOGANATHAN NAGARAJ 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBRAMANIAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SATEESH KUMAR 3 INE477S08126 1000000 30,00,000					
UNLISTED 1 MEYYAMMAI KRISHNAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LAKSHMANAN VELLAYAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 P S MURUGANATHAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 NEERA BAHEL 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LOGANATHAN NAGARAJ 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBRAMANIAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SATEESH KUMAR 3 INE477S08126 1000000 30,00,000	UNLISTED	1 VANATHI MAHESWARAN .	1 INE477S08126	1000000	10,00,000
UNLISTED 1 LAKSHMANAN VELLAYAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 P S MURUGANATHAN . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 NEERA BAHEL . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LOGANATHAN NAGARAJ 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBRAMANIAN . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SATEESH KUMAR . 3 INE477S08126 1000000 30,00,000					
UNLISTED 1 P S MURUGANATHAN . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 NEERA BAHEL . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LOGANATHAN NAGARAJ 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBRAMANIAN . 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SATEESH KUMAR . 3 INE477S08126 1000000 30,00,000					, ,
UNLISTED 1 NEERA BAHEL. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 LOGANATHAN NAGARAJ 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBRAMANIAN. 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SATEESH KUMAR. 3 INE477S08126 1000000 30,00,000					, ,
UNLISTED 1 LOGANATHAN NAGARAJ 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SUBRAMANIAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SATEESH KUMAR 3 INE477S08126 1000000 30,00,000					
UNLISTED 1 SUBRAMANIAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SATEESH KUMAR 3 INE477S08126 1000000 30,00,000	UNLISTED	1 NEERA BAHEL .	1 INE477S08126	1000000	10,00,000
UNLISTED 1 SUBRAMANIAN 1 INE477S08126 1000000 10,00,000 UNLISTED 1 SATEESH KUMAR 3 INE477S08126 1000000 30,00,000	UNLISTED	1 LOGANATHAN NAGARAJ	1 INE477S08126	1000000	10,00,000
UNLISTED 1 SATEESH KUMAR. 3 INE477S08126 1000000 30,00,000					, ,
					/ /
UNLISTED IJKAJINI VARADARAJAN . 2 INE477S08126 1000000 20,00,000					
	UNLISTED	IJKAJINI VAKADAKAJAN .	2 INE477S08126	1000000	20,00,000

LIMI ICTED	1 DD ADNIVA MANCECH WAIVAD	1 INE 477809126	1000000	10.00.000
UNLISTED UNLISTED	1 PRADNYA MANGESH WAIKAR 1 PATRICIA LANCELOT	1 INE477S08126 1 INE477S08126	1000000 1000000	10,00,000
UNLISTED	1 MARASUR SADASIVAN	1 INE477S08126	1000000	, ,
UNLISTED	RAMACHANDRAN	I INE47/S08120	1000000	10,00,000
UNLISTED	1 MAMTA KIRIT THACKER	1 INE477S08126	1000000	10,00,000
UNLISTED	1 KIRIT LAVJI THACKER	1 INE477S08126	1000000	10,00,000
UNLISTED	1 RANJANBEN RAMANLAL SHAH	1 INE477S08126	1000000	10,00,000
UNLISTED	1 SANDHYA JAIN	1 INE477S08126	1000000	10,00,000
UNLISTED	1 FORAM MANAV KUKADIYA	1 INE477S08126	1000000	10,00,000
UNLISTED	1 VIJAY RAMANLAL SHAH	1 INE477S08126	1000000	10,00,000
UNLISTED	1 KENA C SHAH	1 INE477S08126	1000000	10,00,000
UNLISTED	1 JYOTI MUKESH SHAH	1 INE477S08126	1000000	10,00,000
UNLISTED	1 SANDIP VASANT PAI	1 INE477S08126	1000000	10,00,000
UNLISTED	1 DARSHAN RAJESH DOSHI	3 INE477S08126	1000000	30,00,000
UNLISTED	1 NEHA RAJESH SHAH	1 INE477S08126	1000000	10,00,000
UNLISTED	1 JAVER RANDHIR SHAH	1 INE477S08126	1000000	10,00,000
UNLISTED	1 SARLA CHOKHAWALA	1 INE477S08126	1000000	10,00,000
UNLISTED	1 MALTI BHARATKUMAR PATEL	1 INE477S08126	1000000	10,00,000
UNLISTED	1 RASHMIN PREMJIBHAI BABARIYA	2 INE477S08126	1000000	20,00,000
CIVERSTED		2 11 12 17 7500120	1000000	20,00,000
UNLISTED	1 PRIYANKA DALMIA	1 INE477S08126	1000000	10,00,000
UNLISTED	1 MRUDULA KAMLESH SHAH	3 INE477S08126	1000000	30,00,000
UNLISTED	1 HINA UDAYKUMAR DHARIA	1 INE477S08126	1000000	10,00,000
UNLISTED	1 OM RAKESHBHAI THAKKAR	1 INE477S08126	1000000	10,00,000
UNLISTED	1 NILESH MANILAL SHAH	3 INE477S08126	1000000	30,00,000
UNLISTED	1 ANAND SUNIL PARIKH	10 INE477S08126	1000000	1,00,00,000
UNLISTED	1 PARTHASARATHY RAMESH	1 INE477S08126	1000000	10,00,000
UNLISTED	1 DAXA NILESH SHAH	2 INE477S08126	1000000	20,00,000
UNLISTED	1 DHARMESH PRANLAL SHAH	1 INE477S08126	1000000	10,00,000
UNLISTED	1 PRITHVI VALIRAMANI	1 INE477S08126	1000000	10,00,000
UNLISTED	1 SAMRAGNI JAYESH PANDYA .	1 INE477S08126	1000000	10,00,000
UNLISTED	1 ATULKUMAR OCHHAVLAL	1 INE477S08126	1000000	10,00,000
UNLISTED	KANTAWALA	111112477500120	1000000	10,00,000
UNLISTED	1 RAJ DEEPAK KAPADIA	1 INE477S08126	1000000	10,00,000
UNLISTED	1 GANGADEVI KARAMCHAND	1 INE477S08126	1000000	10,00,000
UNLISTED	BHAVNANI	I INE47/308120	1000000	10,00,000
UNLISTED	1 RUPA DEEPAK THAKKAR	1 INE477S08126	1000000	10,00,000
UNLISTED	1 SATYAVATY DARISIPUDI	2 INE477S08126	1000000	20,00,000
UNLISTED	1 DARSHANA HARESH JHAVERI	1 INE477S08126	1000000	10,00,000
UNLISTED	1 SOWMI RAVI	1 INE477S08126	1000000	10,00,000
UNLISTED	1 PUSARLA LAKSHMI PADMAJA	1 INE477S08126	1000000	10,00,000
UNLISTED	1 SUMITA NAYANESH PATEL	1 INE477S08126	1000000	10,00,000
UNLISTED	1 SAMIR LALITKUMAR SHAH	1 INE477S08126	1000000	10,00,000
UNLISTED	1 SHOBHANA GITESH SHAH	1 INE477S08126	1000000	
UNLISTED	1 DINAZ HUSHIDER MUNSHI	4 INE477S08126	1000000	10,00,000
UNLISTED				/ /
	1 HUSHIDER BOMAN MUNSHI 1 CHIMANLAL SHANTILAL MEHTA	1 INE477S08126	1000000	10,00,000
UNLISTED	TCHIMANLAL SHANTILAL MEHTA	1 INE477S08126	1000000	10,00,000
UNLISTED	1 TEJAS MAHENDRA PAREKH	1 INE477S08126	1000000	10,00,000
UNLISTED	1 JAYSHREE ARVINDBHAI DALAL	1 INE477S08126	1000000	10,00,000
			1000000	-,,
UNLISTED UNLISTED	1 NIRMALA NITIN BHANUSHALI 1 BHAVIK C SHAH	2 INE477S08126 20 INE477S08126	1000000	20,00,000
			1000000	, , ,
UNLISTED UNLISTED	1 N R VENKATESAN 1 BINOO NAYAR	1 INE477S08126 1 INE477S08126	1000000	10,00,000
				/ /
UNLISTED	1 LIONS CLUB OF SION CHARITY FUND	1 INE477S08126	1000000	10,00,000
UNLISTED	1 KINCHIT KARAM TRUST	2 INE477S08126	1000000	20,00,000
UNLISTED	1 SHREE PRABHUDAS MOTIDAS PATEL	3 INE477S08126		
UNLISTED		3 INE47/S08126	1000000	30,00,000
	PUBLIC CHERITABLE TRUST			
LIMIT TOTAL	1 CANDIH CROUD CHARITARI E TRUCT	1 B)E 477800126	1000000	10.00.000
UNLISTED	1 GANDHI GROUP CHARITABLE TRUST	1 INE477S08126	1000000	10,00,000
I D II IGEED	1	5 P. V. 1886.001.00	1000000	# 0.00.00
UNLISTED	1 HEALTH & CARE FOUNDATION	5 INE477S08126	1000000	50,00,000
UNLISTED	1 INDIAN REGISTER OF SHIPPING STAFF	20 INE477S08126	1000000	2,00,00,000
I D II IOTTO	PROVIDENT FUND	4 p.m. (886.001.00	1000000	40.00.00
UNLISTED	1 SHREE RANI SATIJI MANDIR	1 INE477S08126	1000000	10,00,000
, n , , , , , , , , , , , , , , , , , ,	CHARITABLE TRUST BHIWANDI	40	100000	4 00 00 00
UNLISTED	1 SURAT MANAV SEVA SANGH	10 INE477S08126	1000000	1,00,00,000

UNLISTED		SHRI JAIN SWETAMBAR MURTIPUJAK TAPGACHCHH SANGH TRUST	2	INE477S08126	1000000	20,00,000
UNLISTED	507		1000			1,00,00,00,000
Total						
Grand Total	523		17850			16,87,50,00,000

			rs Finance Soluti					1
Type of Meeting	Statement sh Date of the meeting	Munjee,		Mr. P. S. Jayakumar,	Mrs. Varsha Purandare,	Mr. P.B . Balaji,	Mr. Shyam Mani,	-
		Independent Director and Chairman	Independent Director	Independent Director (Resigned w.e.f. December 17, 2021)	Independent Director (w.e.f. September 14, 2021)	Non Executive Director	Non Executive Director	
BOARD MEETING	April 12, 2021	Present	Present	Present	_	Present	Present]
	April 30, 2021	Present Present	Present Present	Present Present		Present Present	Present Present	-
	May 11, 2021 June 18, 2021	Present	Present	Present		Present	Present	1
	July 20, 2021	Present	Present	Present	_	Present	Present	1
	September 7, 2021	Present	Present	Present		Present	Present	1
	October 6, 2021 October 20, 2021	Present Present	LOA Present	Present Present	Present Present	Present Present	Present Present	1
	November 12, 2021	Present	Present	Present	Present	Present	Present	†
	December 17, 2021	Present	Present	Present	Present	Present	Present]
	January 25, 2022	Present	Present	_	Present	Present	Present	-
	February 11, 2022 February 25, 2022	Present Present	Present Present		Present Present	Present Present	Present Present	1
	March 2, 2022	Present	Present		Present	Present	Present	1
	Total Held	14	14	14	14	14	14]
	Entitled to attend	14	14	10	8	14	14	-
	Attended	14	13	10	8	14	14	1
Type of Meeting	Date of the meeting	Mr. Nasser Munjee, Independent Director and Chairman	Mrs. Vedika Bhandarkar, Independent Director	Mr. P. S. Jayakumar, Independent Director (Resigned w.e.f. December 17, 2021)	Mrs. Varsha Purandare, Independent Director (w.e.f. September 14, 2021)	Mr. P.B . Balaji, Non Executive Director	Mr. Shyam Mani, Non Executive Director	
AUDIT COMMITTEE	April 9, 2021	_	Present	Present	_	Present	_]
	April 30, 2021	_	Present	Present	_	Present	_	1
	May 11, 2021 July 20, 2021		Present Present	Present Present	_	Present Present	<u>-</u>	1
	August 23, 2021		Present	Present		Present	_	1
	September 7, 2021	_	Present	Present	_	Present	_]
	October 18, 2021 December 14, 2021	_	Present	Present	Present	Present	Present	1
	January 25, 2022	-	Present Present	Present	Present Present	Present Present	_	1
	February 25, 2022	_	Present	_	Present	Present	_	1
	March 21, 2022		LOA	<u> </u>	Present	Present		1
	Total Held Entitled to attend		11	8	11 5	11		1
	Attended		10	8	5	11		+
Type of Meeting	Date of the meeting	Mr. Nasser Munjee, Independent Director and Chairman	Mrs. Vedika Bhandarkar, Independent Director	Mr. P. S. Jayakumar, Independent Director (Resigned w.e.f. December 17, 2021)	Mrs. Varsha Purandare, Independent Director (w.e.f. September 14, 2021)	Mr. P.B . Balaji, Non Executive Director	Mr. Shyam Mani, Non Executive Director	
NRC	April 30, 2021	Present	Present	_	_	Present	Present]
	May 11, 2021 November 12, 2021	Present Present	Present Present	_ Present	 -	Present Present	Present Present	1
	March 4, 2022	Present	Present			Present	Present	1
	Total Held	4	4	4	_	4	4]
	Entitled to attend Attended	4	4	1 1		4	4	-
	Attenued	+	4	1				1
Type of Meeting	Date of the meeting	Mr. Nasser Munjee, Independent Director and Chairman	Mrs. Vedika Bhandarkar, Independent Director	Mr. P. S. Jayakumar, Independent Director (Resigned w.e.f. December 17, 2021)	Mrs. Varsha Purandare, Independent Director (w.e.f. September 14, 2021)	Mr. P.B . Balaji, Non Executive Director	Mr. Shyam Mani, Non Executive Director	Ms. Ridl Gangar, Group CFO
ALCO	June 18, 2021		Present	Present		Present	Present	Presen
	September 29, 2021 December 17, 2021		Present	Present Present	Present Present	Present Present	Present Present	Presen LOA
	March 21, 2022	-	-	riesent	Present	Present	Present	Presen
	Total Held	_	4	4	4	4	4	
	Entitled to attend Attended	-	2	3	3	4	l	

Type of Meeting	Date of the meeting	Mr. Nasser	Mrs. Vedika	Mr. P. S.	Mrs. Varsha	Mr. P.B .	Mr. Shyam
Type of Meeting	Date of the meeting				Purandare,	Balaji, Non	Mani, Non
		Munjee,	Bhandarkar,	Jayakumar,		1 **	1 .
		Independent	Independent	Independent	Independent	Executive	Executive
		Director and	Director	Director	Director (w.e.f.	Director	Director
		Chairman		(Resigned	September 14,		
				w.e.f.	2021)		
				December 17,			
				2021)			
RMC	June 18, 2021		Present	Present		Present	Present
KIVIC	'					 	
	September 29, 2021		Present	Present	Present	Present	Present
	December 17, 2021	_	_	Present	Present	Present	Present
	March 21, 2022	_	_	_	Present	Present	Present
	Total Held		4	4	4	4	4
	Entitled to attend		2	3	3	4	
	Attended		2	3	3	4	
	Attended			3	, ,	 	_
Type of Meeting	Date of the meeting	Mr. Nasser	Mrs. Vedika	Mr. P. S.	Mrs. Varsha	Mr. P.B .	Mr. Shyam
		Munjee,	Bhandarkar,	Jayakumar,	Purandare,	Balaji, Non	Mani, Non
		Independent	Independent	Independent	Independent,	Executive	Executive
		Director and	Director	Director	Additional	Director	Director
		Chairman	26616.	(Resigned	Director (w.e.f.		
		Chairman		1. •	1		
				w.e.f.	September 14,		
				December 17,	2021)		I
	<u> </u>	<u></u>	<u> </u>	2021)	<u> </u>	<u></u>	<u> </u>
ITSC	August 23, 2021		Present	Present	-	Present	
	February 1, 2022			-	Present	Present	Present
	Total Held		2	2	2	2	1
	Entitled to attend	1	1	1	1	2	
	Attended		1	1	1	2	1
Type of Meeting	Date of the meeting	Mr. Nasser	Mrs. Vedika	Mr. P. S.	Mrs. Varsha	Mr. P.B .	Mr. Shyam
		Munjee,	Bhandarkar,	Jayakumar,	Purandare,	Balaji, Non	Mani, Non
		Independent	Independent	Independent	Independent,	Executive	Executive
		1 .		-	1 .		
		Director and	Director	Director	Additional	Director	Director
		Chairman			Director (w.e.f.		
					September 14,		
					2021)		
					,		
SRC	March 4 2022	Present				Present	Present
3NC	March 4, 2022	Present	-	-	_	Present	Present
	Total Held	1				1	1
	Entitled to attend	1				1	1
	Attended	1				1	1
Type of Meeting	Date of the meeting	Mr. Nasser	Mrs. Vedika	Mr. P. S.	Mrs. Varsha	Mr. P.B .	Mr. Shyam
Type of Miceting	Date of the meeting						1 '
		Munjee,	Bhandarkar,	Jayakumar,	Purandare,	Balaji, Non	Mani, Non
		Independent	Independent	Independent	Independent	Executive	Executive
		Director and	Director	Director	Director (w.e.f.	Director	Director
		Chairman		(Resigned	September 14,		
				w.e.f.	2021)		
				December 17,	'		
				2021)			
CCD	C	B	B	2021)		1	Danas : 1
CSR	September 6, 2021	Present	Present	_	_	-	Present
	March 21, 2022	Present	_	_	_	Present	Present
	Total Held	2	2	<u> </u>		2	2
	Entitled to attend	2	1			1	2
	Attended	2	1			1	2
		<u> </u>	_			 	
Tuno of Mooting	Date of the mastine	Mr. Nasser	Mrs. Vedika	Mr. P. S.	Mrs. Varsha	Mr D D	Mr Chucas
Type of Meeting	Date of the meeting					Mr. P.B .	Mr. Shyam
		Munjee,	Bhandarkar,	Jayakumar,	Purandare,	Balaji, Non	Mani, Non
		Independent	Independent	Independent	Independent	Executive	Executive
		Director and	Director	Director	Director (w.e.f.	Director	Director
		Chairman		(Resigned	September 14,		
				w.e.f.	2021)		I
	1				2021,		I
			1	December 17,			I
				2021)			
Lending Committee	December 10, 2021			2021) Present	Present		Present
Lending Committee	December 10, 2021	_	_	+ - '	Present	_	Present
Lending Committee		_	_	Present		_	
Lending Committee	Total Held	_	_	Present 1	1	1	1
Lending Committee	Total Held Entitled to attend	_	_	Present 1	1		1
Lending Committee	Total Held	_	-	Present 1	1		1
Lending Committee	Total Held Entitled to attend	Mr. Nasser	Mrs. Vedika	Present 1	1		1

Type of Meeting	Date of the meeting	Mr. Nasser Munjee, Independent Director and Chairman	Mrs. Vedika Bhandarkar, Independent Director	Mr. P. S. Jayakumar, Independent Director (Resigned w.e.f. December 17, 2021)		Mr. P.B . Balaji, Non Executive Director	Mr. Shyam Mani, Non Executive Director
ID Meeting	March 21, 2022	Present	Present	_	Present	_	_
	Total Held	1	1		1		
	Entitled to attend	1	1		1		
	Attended	1	1		1		